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UGC NET PAPER 2 DECEMBER 5, 2021 SHIFT 1 TELUGU QUESTION PAPER

Topic:- Telugu_SET1_A
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[Question ID = 2479][Question Description = Q01_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9913]
2. 2 [Option 1D = 5914
3. 3 [Option ID = 9915]
4. 4 [Option ID = 9916
Correct Answer ;-

e 1 [Option ID = 9913]
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[Question ID = 2480][Question Description = Q02_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 9917]

2. 2 [Option ID = 9918]

3. 3 [Option ID = 9919]

4, 4 [Option ID = 9920]

Correct Answer ;-

e 1 [Option ID = 9917]
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[Question ID = 2481][Question Description = Q03_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 9921]
2. 2 [Option ID = 9922]
3. 3 [Option ID = 9923]
4, 4 [Option ID = 9924]

Correct Answer ;-
a 1 [Option ID = 5921]
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[Question ID = 2482][Question Description = Q04_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 9925]

2. 2 [Option ID = 9926

3. 3 [Option ID = 9927]

4. 4 [Option ID = 9928

Correct Answer :-

e 1 [Option ID = 9925]
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[Question ID = 2483][Question Description = Q05_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Optien ID = 9929]
2. 2 [Option ID = 9930]
3. 3 [Option ID = 9931]
4, 4 [Option ID = 9932]

Correct Answer :-
a 1 [Option ID = 9929]

prepp

Your Personal Exams Guide

8) 85 oK 250 B R

1) e 2 §%
(3w 4 &

[Question ID = 2484][Question Description = Q06_Telugu_SHAAN_5DEC_51_5Shift1]
1. 1 [Option ID = 9933]
2. 2 [Option ID = 9934]
3. 3 [Option ID = 9935]
4. 4 [Option ID = 9936]
Correct Answer :-

¢ 1 [Option ID = 9933]
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[Question ID = 2485][Question Description = Q07_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9937]
2. 2 [Option ID = 9938
3. 3 [Option ID = 9939]
4. 4 [Option ID = 9940
Correct Answer ;-
e 1 [Option ID = 9937]
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[Question ID = 2486][Question Description = QO8_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9941]
2. 2 [Option ID = 9942]
3. 3 [Option ID = 9943]
4. 4 [Option ID = 9944]
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[Question ID = 2487][Question Description = Q09_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 9945]

2. 2 [Option ID = 9946]

3. 3 [Option ID = 9947]

4. 4 [Option ID = 9948]

Correct Answer ;-

e 1 [Option ID = 9945]
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[Question ID = 2488][Question Description = Q10_Telugu_SHAAN_5DEC_S51_5Shift1]
1. 1 [Option ID = 9549]
2. 2 [Option ID = $950]
3. 3 [Option ID = $951]
4. 4 [Option ID = 9952]
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[Question ID = 2489][Question Description = Q11_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 9953]

2. 2 [Option ID = 9954]

3. 3 [Option ID = 9955]

4. 4 [Option ID = 9956)

Correct Answer ;-

e 1 [Option ID = 9953]
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[Question ID = 2490][Question Description = Q12_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 9957]
2. 2 [Option ID = 9958]
3. 3 [Option ID = 9959]
4. 4 [Option ID = 9960]

Correct Answer ;-
e 1 [Option ID = 9957]
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[Question ID = 2491][Question Description = Q13_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 9961]

2. 2 [Option ID = 9962]

3. 3 [Option ID = 9963]

4, 4 [Option ID = 9964]

Correct Answer -

s 1 [Option ID = 9961]
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[Question ID = 2492][Question Description = Q14_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option 1D = 9965]
2. 2 [Option ID = 9966]
3. 3 [Option ID = 9967]
4. 4 [Option ID = 9968]

Carrect Answer ;-
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|« 1 [Option ID = 9965]

19) 584900 Bt BB ABSyBOT BLED D50 BB0BD Edon(®
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[Question ID = 2493][Question Description = Q15_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 9969]
2. 2 [Option ID = 9970]
3. 3 [Option ID = 9971]
4, 4 [Option ID = 9972]

Correct Answer ;-
e 1 [Option ID = 9969]
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[Question ID = 2494][Question Description = Q16_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 9973]

2. 2 [Option ID = 9974]

3. 3 [Option ID = 9975]

4. 4 [Option ID = 9976)

Correct Answer ;-

e 1 [Option ID = 9973]
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[Question ID = 2495][Question Description = Q17_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 9977]
2. 2 [Option ID = 9978]
3. 3 [Option ID = 9979]
4. 4 [Option ID = 9980]

Correct Answer ;-
e 1 [Option ID = 9977]
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[Question ID = 2496][Question Description = Q18_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 9981]

2. 2 [Option ID = 9982]

3. 3 [Option ID = 9983]

4. 4 [Option ID = 9984)

Caorrect Answer :-

» 1 [Option ID = 9981]
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[Question ID = 2497][Question Description = Q19_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 9985]
2. 2 [Option ID = 9986]
3. 3 [Option ID = 9587
4. 4 [Option ID = 9988

Carrect Answer ;-
& 1 [Option ID = 9985]
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[Question ID = 2498][Question Description = Q20_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 9989]
2. 2 [Option ID = 9990]
3. 3 [Option ID = 9991]
4. 4 [Option ID = 9992)
Correct Answer :-

¢ 1 [Option ID = 9989]
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[Question ID = 2499][Question Description = Q21_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 9993]
2. 2 [Option ID = 9994]
3. 3 [Option ID = 9995]
4. 4 [Option ID = 9996]

Correct Answer ;-
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e 1 [Option ID = 9993]
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[Question ID = 2500][Question Description = Q22_Telugu_SHAAN_5SDEC_51_5hift1]
1. 1 [Option 1D = 9997]

2. 2 [Option ID = 9998]

3. 3 [Option ID = 9999]

4. 4 [Option ID = 10000]

Correct Answer :-

» 1 [Option ID = 99597]
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[Question ID = 2501][Question Description = Q23_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 10001]
2. 2 [Optien ID = 10002]
3. 3 [Option ID = 10003]
4. 4 [Option ID = 10004]
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Correct Answer ;-
e 1 [Option ID = 10001]

29 egpogescdy asIrEsga0 — D80 0% S5
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[Question ID = 2502][Question Description = Q24_Telugu_SHAAN_5SDEC_S1_Shift1]

1. 1 [Option ID = 10005]
2. 2 [Option ID = 10006]
3. 3 [Option ID = 10007]
4. 4 [Option ID = 10008]

Correct Answer ;-
e 1 [Option ID = 10005]
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[Question ID = 2503][Question Description = Q25_Telugu_SHAAN_SDEC_S1_Shift1]

1. 1 [Option 1D = 1000%]
2. 2 [Option ID = 10010]
3. 3 [Option ID = 10011]
4. 4 [Option ID = 10012
Correct Answer ;-

e 1 [Option ID = 10009]
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[Question ID = 2504][Question Description = Q26_Telugu_SHAAM_SDEC_S51_Shift1]

1. 1 [Option ID = 10013]
2. 2 [Option ID = 10014]
3. 3 [Option ID = 10015]
4, 4 [Option ID = 10016]

Correct Answer ;-
e« 1 [Option ID = 10013]
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[Question ID = 2505][Question Description = Q27_Telugu_SHAAN_5DEC_S1_Shift1]

1. 1 [Option ID = 10017]
2. 2 [Option ID = 10018
3. 3 [Option ID = 10019]
4. 4 [Option ID = 10020
Correct Answer -
e 1 [Option ID = 10017]
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[Question ID = 2506][Question Description = Q28_Telugu_SHAAN_5DEC_S1_Shift1]
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. 1 [Optien 1D = 10021]
2 [Option ID = 10022]
3 [Option ID = 10023]
. 4 [Option ID = 1002

N S PO L ey

Correct Answer -
e 1 [Option ID = 10021]
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[Question ID = 2507][Question Description = Q29_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10025]
2. 2 [Option ID = 10026)
3. 3 [Option ID = 10027]
4. 4 [Option ID = 10028]

Carrect Answer :-
& 1 [Option ID = 10025]
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[Question ID = 2508][Question Description = Q30_Telugu_SHAAN_5DEC_S51_5hift1]
1. 1 [Option ID = 10029]

2. 2 [Option ID = 10030]

3. 3 [Option ID = 10031]

4. 4 [Option ID = 10032]

Correct Answer ;-

« 1 [Option ID = 10029]
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[Question ID = 2509][Question Description = Q31_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10033]

2. 2 [Option ID = 10034]

3. 3 [Option ID = 10035]

4. 4 [Option ID = 10036]

Correct Answer ;-

e 1 [Option ID = 10033]
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[Question ID = 2510][Question Description = Q32_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10037]

2. 2 [Option ID = 10038]

3. 3 [Optien ID = 10039]

4. 4 [Option ID = 10040]

Correct Answer :-

e 1 [Option ID = 10037]
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[Question ID = 2511][Question Description = Q33_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10041]
2. 2 [Option ID = 10042
3. 3 [Option ID = 10043]
4. 4 [Option ID = 10044]

Correct Answer :-

e 1 [Option ID = 10041]
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[Question ID = 2512][Question Description = Q34_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10045]
2. 2 [Option ID = 10046
3. 3 [Option ID = 10047]
4. 4 [Option ID = 1004
Correct Answer :-
e 1 [Option ID = 10045]

35)  «yB5m50680 drrosintond rsdaiue, ESEE AR I, BERSBIRAND Brrotven,
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[Question ID = 2513][Question Description = Q35_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10049]
2. 2 [Option ID = 10050]
3. 3 [Option ID = 10051]
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4, 4 [Option ID = 10052]

Correct Answer ;-
e« 1 [Option ID = 10049%]
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(3) A= -CH-0 (4) &-g-w3-e3-M

[Question ID = 2514][Question Description = Q36_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10053]
2. 2 [Option ID = 10054]
3. 3 [Option ID = 10055]

4, 4 [Option ID = 10056]

Correct Answer ;-
e« 1 [Option ID = 10053]
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[Question ID = 2515][Question Description = Q37_Telugu_SHAAN_5DEC_51_5hift1]

1. 1 [Option ID = 10057]
2. 2 [Option ID = 10058]
3, 3 [Option ID = 10059]
4. 4 [Option ID = 10060]
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Carrect Answer ;-
& 1 [Option ID = 10057]

38)  cwrtomri Doren [Hodsy

(1) FBoer §iiiord (2) Besards Koo el
(3) oPHR0eY THOWOE® Bcé% (4 wrdoer o

[Question ID = 2516][Question Description = Q38_Telugu_SHAAN_SDEC_S51_Shift1]
1. 1 [Option 1D = 10061]
2. 2 [Option ID = 10062]
3. 3 [Option ID = 10063]
4. 4 [Option ID = 10064
Correct Answer ;-

e 1 [Option ID = 10061]
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[Question ID = 2517][Question Description = Q39_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10065]
2. 2 [Option ID = 10066]
3. 3 [Option ID = 10067
4. 4 [Option ID = 10068]

Carrect Answer :-
& 1 [Option ID = 10065]

40) et ersBEn 508 208% oto
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[Question ID = 2518][Question Description = Q40_Telugu_SHAAM_S5DEC_51_Shift1]
1. 1 [Optien ID = 10069]

2. 2 [Option ID = 10070]

3. 3 [Option ID = 10071]

4. 4 [Option ID = 10072]

Correct Answer ;-

e 1 [Option ID = 1006%]
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[Question ID = 2519][Question Description = Q41_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 10073]
2. 2 [Option ID = 10074]
3. 3 [Option ID = 10075]
4. 4 [Option ID = 10076]
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Correct Answer ;-
e 1 [Option ID = 10073]

42)  H305 g eEETen
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C.
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[Question ID = 2520][Question Description = Q42_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10077]
2. 2 [Option ID = 10078]
3. 3 [Option ID = 10079]
4, 4 [Option ID = 10080]

Correct Answer ;-
e 1 [Option ID = 10077]

43)
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[Question ID = 2521][Question Description = Q43_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Optien ID = 10081]
2. 2 [Option ID = 10082]
3. 3 [Option ID = 10083]
4. 4 [Option ID = 10084]

Correct Answer ;-
e 1 [Option ID = 10081]
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C.
D

1)
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A, B Soggi (2) B, C S

B, D S (4) A, C srBio

[Question ID = 2522][Question Description = Q44_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10085]
2. 2 [Option ID = 10086]
3. 3 [Option ID = 10087]

4. 4 [Option ID = 10088

Correct Answer -

e 1 [Option ID = 10085]
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49) Bover §g08 tﬁq);}esﬁ S8-S0 GRS 360008008° g0
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[Question ID = 2523][Question Description = Q45_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 1008%]
2. 2 [Option ID = 10090]
3. 3 [Option ID = 10091]

Carrect Answer ;-
& 1 [Option ID = 10089]
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10 9% ey H00 HEI?
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(1) A B SmEd (2) C.D Srpd

(3) B, C domEd (4) A, D SrpEd

[Question ID = 2524][Question Description = Q46_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10093]
2. 2 [Option ID = 10094]
3. 3 [Option ID = 10095]
4. 4 [Option ID = 10096]

Carrect Answer :-
& 1 [Option ID = 10093]

47) 23:3& 5650955 E‘odﬁ]_é OZ’DJC%D@S SO DYD @123:36@3

A K8 g
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1) A B @D (2) B, D 3rEi»
(3) B, C srEd (4) C.D SrE

[Question ID = 2525][Question Description = Q47 _Telugu_SHAAM_5S5DEC_S51_Shift1]
1. 1 [Option ID = 10097]
2. 2 [Option ID = 10098]
3. 3 [Option ID = 10099]
4, 4 [Option ID = 10100]

Correct Answer ;-
L e [Option ID = 100%7]
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[Question ID = 2526][Question Description = Q48_Telugu_SHAAM_SDEC_S51_Shift1]

1. 1 [Option ID = 10101]
2. 2 [Option ID = 10102]
3. 3 [Option ID = 10103]
4, 4 [Option ID = 10104]

Correct Answer ;-
e« 1 [Option ID = 10101]
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A. D0 Bvnsel

B. 0239
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A, C SrEdo

[Question ID = 2527][Question Description = Q49_Telugu_SHAAN_5SDEC_51_5hift1]

1. 1 [Option ID = 10105]
2. 2 [Option ID = 10106]
3. 3 [Option ID = 10107]
4. 4 [Option ID = 10108]
Correct Answer :-

& 1 [Option ID = 10105]

50)  @oameronn’ HBEB DerEonT ED0RS T
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[Question ID = 2528][Question Description = Q50_Telugu_SHAAN_5SDEC_51_5hift1]

1. 1 [Option ID = 10109]
2. 2 [Option ID = 10110]
3. 3 [Option ID = 10111]
4. 4 [Option ID = 10112]
Correct Answer :-

& 1 [Option ID = 10109]
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Fag R N

B. DE); &esd
C. D8O eSS0
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(1) B.C srs (2) A.D Sr@d

(3) A, C dmpd (4) C.D Srpd

[Question ID = 2529][Question Description = Q51_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10113]
2. 2 [Option ID = 10114]
3. 3 [Option ID = 10115)
4. 4 [Option ID = 10116]

Carrect Answer ;-
& 1 [Option ID = 10113]

D) oty oeso o B

A ﬁé&@@m
TeorHe0

C. Bo0230
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[Question ID = 2530][Question Description = Q52_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10117]

2. 2 [Option ID = 10118

3. 3 [Option ID = 10119]

4. 4 [Option ID = 10120

Correct Answer :-

e 1 [Option ID = 10117]

33 roorars Flhos %% Ssen

A. K9 20&00e0

B. mmc;;méém

C. SOD DO

D. 2653

(1) A B H9@d (2) B.D srgd
(3) B, C 3@ 4) C.D SrEd

[Question ID = 2531][Question Description = Q53_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10121]

2. 2 [Option ID = 10122

3. 3 [Option ID = 10123]

4. 4 [Option ID = 10124
Correct Answer ;-

& 1 [Option ID = 10121]

M 26303 S0ty TEge

A, DHozd)
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B. g

C. FEELI IO

D. &gy»0
(1) A B SHo@Ed (2) B.D Sovgan
3) C, D 3rmsd (4) B, C S

[Question ID = 2532][Question Description = Q54_Telugu_SHAAN_BDEC_51_Shift1]
1. 1 [Option ID = 10125]
2. 2 [Optien ID = 10126]
3. 3 [Optien ID = 10127]
4. 4 [Option ID = 10128]

Correct Answer ;-
e 1 [Option ID = 10125]

23 EESEd e S90aR 38S° e Sdow@doen

A #R08

B. 505808

C. TR

D, S050boraud

() A B seEd (2) B.C Sr@d
B A C @b (4) C.D Srpd

[Question ID = 2533][Question Description = Q55_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10129%]
2. 2 [Option ID = 10130]
3. 3 [Option ID = 10131]
4. 4 [Option ID = 10132]

Carrect Answer ;-
& 1 [Option ID = 10129]

56) T8 TS S0l $7oBS” DD antvHe HEden

A (AENES

B. 55509585

C.  BEEo® 58S

D.  Irooss) 9o

(1) A B 3rgd (2) B, C drEd
(3) A D SrEd (4) B.D S

[Question ID = 2534][Question Description = Q56_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10133]
2. 2 [Option ID = 10134]
3. 3 [Option ID = 10135]
4. 4 [Option ID = 10136]
Correct Answer -

& 1 [Option ID = 10133]

37) S0y, 3B TOBE sgen

A. OO

| = M et YSHoa e
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C.

D,

(1
(3)

[Question ID = 2535][Question Description = Q57_Telugu_SHAAN_5DEC_S51_5Shift1]

Hy5e
R0 B0

B, D Hro@o 2 A C Horegd
B, C 5@ @) A D Srpdo

1. 1 [Option ID = 10137]
2. 2 [Option ID = 10138]
3. 3 [Option ID = 10139
4. 4 [Option ID = 10140]

Correct Answer :-
s 1 [Option ID = 10137]

58) 12D oo Ag DY

Al
B.
C.

D.

(1)
(3

F’JOC,)“’:B ﬁ}q}ggo
RO 280
HTDTV0O
[
r‘b;’;v :ﬁcfggo
A B S (2) B.C Srpid

C.D So@d 4) A C Hosdd

[Question ID = 2536][Question Description = Q58_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 10141]
2. 2 [Option ID = 10142]
3. 3 [Option ID = 10143]
4, 4 [Option ID = 10144]

Correct Answer ;-
e 1 [Option ID = 10141]

99 9es059iE Trere $P00S° ey BIR0D Bl

A.
B
C.
D

(D
(3)

e peaiioo
%335‘583
BOBHTEHO

(DT

A, B 38 @ B.C drgh

A, D 373 (4 C.D Sor@d

[Question ID = 2537][Question Description = Q59_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10145]
2. 2 [Option ID = 10146]
3. 3 [Optien ID = 10147]
4. 4 [Option ID = 10148)

Correct Answer ;-
e 1 [Option ID = 10145]

A,

B.

o

D% 5008 Fo¥erAn o DEE DD

SMGs sEaioey

@-:ﬁ':,:)nﬂo‘hm

M A T
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T w

D.

(1)
(3

W o owmuas

S B0
A B SR (2) B, C Srgd
A C ‘533"‘@’93) (4) C.D SHrpao

[Question ID = 2538][Question Description = Q60_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10149]
2. 2 [Option ID = 10150
3. 3 [Option ID = 10151]

4. 4 [Option ID = 10152

Correct Answer -

e 1 [Option ID = 10149]

A.
B
C.
D

€Y
(3)

Dodoil Boergen

A B 5@ () B, C Hrph

A, D sl 4 A C SmBo

[Question ID = 2539][Question Description = Qé1_Telugu_SHAAN_5DEC_S51_5Shift1]
1. 1 [Option ID = 10153]
2. 2 [Option ID = 10154)
3. 3 [Option ID = 10155]

4. 4 [Option ID = 10156]

Correct Answer :-

& 1 [Option ID = 10153]

62)  paBRrEreD TS

A
B
C.
D

(1)
(3)

3, T g0 §%0080) DETR0
‘f’.g)ﬁiogaﬁa T B2020HD DA
3 ‘—é{agcaubé) A a0

(AR AVITS ggéfgogom BTV

A, B Sms (2) B, C srEds

A. D S (4) A C Hr@d

[Question ID = 2540][Question Description = Q62_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10157]
2. 2 [Option ID = 10158]
3. 3 [Option ID = 10159]
4, 4 [Option ID = 10160]

Correct Answer ;-
e 1 [Option ID = 10157]

63) rard J088 arrirsmey

© o W

SO0
BOE3D
:5:)5&

Mﬁmﬂg
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1) A, C sresd 2 A, B srEd
(3) B, C d@gd 4) B.D SrEd

[Question ID = 2541][Question Description = Q63_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10161]

2. 2 [Option ID = 10162]

3. 3 [Option ID = 10163]

4. 4 [Option ID = 10164]
Correct Answer -
s 1 [Option ID = 10161]

D §2m5 $5505°0 Sozeisigo Biroas HdFe
A HobdorrBdo
B. 8@
C. %D
D.  Speaodo
(1) A B Sregd 2) A. D Srpd
(3) B, C SrEd (4 A C srE

[Question ID = 2542][Question Description = Q64_Telugu_SHAAM_5SDEC_51_Shift1]
1. 1 [Option ID = 10165]
2. 2 [Option ID = 10166]
3. 3 [Option ID = 10167]
4, 4 [Option ID = 10168]

Correct Answer ;-
e 1 [Option ID = 10165]

%9 3o5BsorR) BAHEE BRBBOPD T

Al ;’)eg: Gﬂwgggééé
B. BT gsﬁﬁadﬁﬁ_“gl) B%

C.  Irdosuy domesds

D. e
(1) A B S (2) A.C Srg
(3) B, C HrEd 4) A D Sr@Ed

[Question ID = 254 3][Question Description = Q65_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10169]

2. 2 [Option ID = 10170]

3. 3 [Option ID = 10171]

4. 4 [Option ID = 10172]

Correct Answer ;-

e 1 [Option ID = 10169]

66) 2@ I D erdme 1T &° a3 Dobods.
eredar | e 11

A egTEo L 7ol
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B. es8m08 50

C. @gﬁ”’tﬁéo

D. @%ﬂﬁég

ROR ﬁéﬁwﬁ)& .-‘bgoif)o& i

(1) A-1II, B -1V, C - I11.
2y A-TII, B-1V, C-1,
(3) A-TIII, B-1V. C-11.
(4) A-TI, B - I1I1, C-1,

. S0580
ML %0%d
IV. 3gdaeao

D-1

D-1III

D-1

D-1IV

[Question ID = 2544][Question Description = Q66_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10173]
2. 2 [Option ID = 10174]
3. 3 [Option ID = 10175]
4, 4 [Option ID = 10176]

Correct Answer ;-
a 1 [Option ID = 10173]

67) e I D o 11 &° a8 Dohod.

e |
A oss
B. ok
C. ool
D. €39
80 ﬁéﬁwﬁ)ﬁl mgoif)o& :
(1) A-IV, B-1I, C - I11.
(2y A-TIII B -1V, C-1II.
(3) A-TIII, B-11, C-1,
(4) A-1II, B —III. C-1V,

e 11
I  aEdud
I &3 28°
L. gSegromdy

IV. &80 &50000

D-1I
D-1
D-1IV
D-1I

[Question ID = 2545][Question Description = Q67_Telugu_SHAAN_5SDEC_51_5hift1]
1. 1 [Option ID = 10177]
2. 2 [Option ID = 10178]
3. 3 [Option ID = 10179]

4. 4 [Option ID = 10180]

Carrect Answer ;-

1 [Option ID = 10177]

68) el D erde [1 & 2o Dabods.

eredage |

DOCIBON Do 90
BB DI g
AP oES0

S eroely D01

ezedeme 11

L. 008
II. Somresods
1I1. mﬁéoééé

IV, (80
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S8R VAR H8owod
1) A-II. B-L
(2 A-III, B-1IV.
3) A-1I B - III,
49 A-1IV, B 1L

[Question ID = 2546][Question Description = Q68_Telugu_SHAAN_SDEC_S1_Shift1]

1. 1 [Optien ID = 10181]
2. 2 [Option ID = 10182]
3. 3 [Option ID = 10183]

4. 4 [Option ID = 10184]

Correct Answer ;-
e 1 [Option ID = 10181]

C -1II1,
C-1

C-1V,
C — 111,

69) prgar 19 weRe I &° s Sa0d.

SR AR MGovod

(1)
2
(3)
(D

erdar [
A, wo|d DY
B. &2013 I;’Jg J{:Jg
C. B8 D58
D. P I0 D DBTRY

A-1II B-1V.
A-III. B-IL
A-1, B - III,
A-1II. B-1.

[Question ID = 2547][Question Description = Q69_Telugu_SHAAM_S5DEC_S51_Shift1]

1. 1 [Option ID = 10185]
2. 2 [Option ID = 10186]
3. 3 [Option ID = 10187]

4. 4 [Option ID = 10188]

Correct Answer ;-
e 1 [Option ID = 10185]

C-1
C -1V,
C-1I.
C -1V,

D-1IV
D-1II
D-1IT
D-1I

I1.

IIT.

D-1I1
DI

D-1V
D-1III

erdee 11

EDET0& O DOELITD)
R}‘*é:ﬁ@ ‘533&7;)5“@
Kotd £°R dE0csrR

DESS e Do¥eoTed
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70) e 19 srmer 11 &° a8 305008,

i |
A oIrEsHen
B. AP
C. ;’)rﬁé?’@
D. DO

B8R VAR OBowod

1)
(2
3
(4

A-III. B-II,
A-1, B —1II11,
A-TI, B-1V.
A-1IV. B-L

C -1V,
C-1L
C - 111,
C—1I,

II.

I11.

D-1I
D-1IV
D-1
D-1II

g I

BOBEOtEELEA
QI°E)0000 YT
202} )TPEA0

200 BB
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[Question ID = 2548][Question Description = Q70_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Optien ID = 10189]
2. 2 [Option ID = 10190]
3. 3 [Option ID = 10191]
4. 4 [Option ID = 101%2]

Correct Answer ;-
a 1 [Option ID = 10189]

1) erper 10 oo II & e Dobod.
edme | egeadare 11

A BHE 538 D5Te Hg8rDo I SoserdasSs
B. el e arried” S 985 IL 2.9 §o°d
C.  ZorE¥d Rgfur8 Hko 10 P50 1. §%%r8 govdudord

D. sdyasy IV. 3EH& Todhess )
$BR DATFTRY 8o :

(1) A-IIL BE-III, C-1IV, D-1
2y A-L B -11, C-1IV, D-1III
(3) A-IV, E-III., C-1, D-1II
4 A-III, B-IV, C-1I, D-I

[Question ID = 2549][Question Description = Q71_Telugu_SHAAM_S5DEC_S51_Shift1]
1. 1 [Option ID = 10193]
2. 2 [Option ID = 10194]
3. 3 [Option ID = 10195]
4, 4 [Option ID = 10196]

Correct Answer ;-
e 1 [Option ID = 10193]

72) e 1D e I & et DabHod.

arPar 1 egeedae 11
A ROGIDER I $5m8doost
B.  {rerow IL  Sgeednss
C. P I Sy@)Feiss
D B IV. 5509080

-

IB HITGRRY KBS :

(1) A-III. B-1IV. C 1L D-1I
(2) A-1IV, B-III, C-II D-I
(3) A-L B-1I, C-1V, D -1II
(4 A-IV, B-1. C-1I, D-1III

[Question ID = 2550][Question Description = Q72_Telugu_SHAAN_5DEC_S1_Shift1]
1. 1 [Option ID = 10197]
2. 2 [Option ID = 10198]
3. 3 [Option ID = 10199]
4. 4 [Option ID = 10200
Correct Answer -

e 1 [Option ID = 10197]
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3) e 12 oo 1T 8 w8 Bohod.
erdar I e 1T
A SN I 9883
B.  $orgiudonw I Faob dssoer
C.  otSor 0308 5o IIL  dowrge Siwoe
D.  oeghgsaihm IV. 95500 Bdoedien
S DD H8odod ;

(1) A-TII B-III, C-1, D-1IV
(2) A-IL B -1V, C-1I. D-1III
(3) A-IV, B-II, C-1, D-1I
4 A-III. B-I1 C-1V, D-1II

[Question ID = 2551][Question Description = Q73_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10201]
2. 2 [Option ID = 10202]
3. 3 [Option ID = 10203]

Carrect Answer ;-
& 1 [Option ID = 10201]

74) a1 D erdar 11 & s Dabod.

e | esredae 11
A BVELFEITTI) — JANBR DIV L dad
B. DOLITHDT® — TOITT° 1. esB3e5aHd
C 28 VoK — IHBGSEeane III. $g3aHd
D S ey - JoEIAR [E IV. oo

5

SB WAGeRERYy KoBodod :

1 A-1L B-1II, C-1v. D-III
2 A-1L B-1V. C-1I, D-III
3 A-1 B-III, C-IV. D-1I
4 A-III. B-I C-1II. D-1IV

[Question ID = 2552][Question Description = Q74_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10205]

2. 2 [Option ID = 10206]

3. 3 [Option ID = 10207]

4. 4 [Option ID = 10208]

Correct Answer :-

e 1 [Option ID = 10205]

73) o1 ower I 8° a8 3ohod.
erdoe eedme 11

A Q08 IL 907 d%c0

B. ;‘)\7“2355212'; II. 2580% Bogbaxd
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C. FRD efIe) I11. m:ag B’)Eﬁ@}ﬁé‘é‘né
D. ;GPEJ&%J)M éni’aae% TV. H“éf)@ W@Q@M@n
ﬁER’J L’J‘;‘lj'"m"‘m“ﬁgl r‘ﬁgo-tﬁo& 2

(1) A-1 B III, C—1I, D-1V
2y A-1IV, B-1I, C-1, D-1II1
(3 A-1II B - III. C-1V, D-1
4 A-1IV, B-1. C-1I. D-1I11

[Question ID = 2553][Question Description = Q75_Telugu_SHAAN_SDEC_S1_Shift1]

1. 1 [Optien ID = 10209]

2. 2 [Option ID = 10210]

3. 3 [Optien ID = 10211]

4. 4 [Option ID = 10212]

. correct Mswer s
e 1 [Option ID = 10209]

76)  BeoiD grar o (¥H00

A, HKoed SR 250052

B. FABRIA o oﬂwgqj‘é;
C. &ilores gg@mg

D.  &5ehoeed ety
FBR VHTFRRY 108090S :

(1) A B.C.D
(Zy B.C.D. A
(3) A.C.D.B
4 C,B.AD

[Question ID = 2554][Question Description = Q76_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10213]

2. 2 [Option ID = 10214]

3. 3 [Option ID = 10215]

4. 4 [Option ID = 10216]

Correct Answer ;-

e 1 [Option ID = 10213]

77) 808 Sore 58S 500 HBo%0d:

A, Jiod
(7]
B. Heady
f
C. B35
D. Lo

SHR DITGRRY fﬁgo{ﬁoc.% :

(1) C.D.A/B
(2 B.D.A.C
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(3) ABCD

4) D, CAB
[Question ID = 2555][Question Description = Q77_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10217]
2. 2 [Option ID = 10218)
3. 3 [Option ID = 10219]
4. 4 [Option ID = 10220]

Carrect Answer :-
s 1 [Option ID = 10217]

78)  &dargro D83 Fdvo 8odod.

A. R e AN moﬁsﬂuajﬂgéo
B. é’ga’aé’mofjéeﬁsﬁvaﬁé}’ao
C.  n&2rggdo

D. hrodﬁﬁéavwgﬁo

3B HIErRR)Y 800G :

LTS

1) A.C.D.B
(2 C.D,B. A
(3) D.C.B.A
499 A BD.C

[Question ID = 2556][Question Description = Q78_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10221]
2. 2 [Option ID = 10222]
3. 3 [Option ID = 10223]
4. 4 [Option ID = 10224]

Correct Answer ;-
e 1 [Option ID = 10221]

79 ger S50 - KB ¥500 HBoBd:

A, as=sod’ SMo

B. 5
C. SRS
D. Dedoes

BB BITEIRY B0BOS :

(1) A C.BD

(2)y C,A.D, B,

(3 D,BAC

4y B, A.D, C
[Question ID = 2557][Question Description = Q79_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Optien ID = 10225]
2. 2 [Option ID = 10226]

3. 3 [Option ID = 10227]
| 4. 4 [Option ID = 10228]
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Correct Answer ;-

e 1 [Option ID = 10225]

80) o356 (omre sTerRy wed S8 Edvo HBodod:

A, SQOMTET DG Toeoe)
B.  BeoiHd’ o Yorered - B D599
C. TR0 S0 HoDB

D. QaTof HOPEIRD

BB DIHTGrRRY 198090G ¢

o

(1) C,B.A. D
2y A C.D B
(3) C,A.B.D
4) D.B.AC
[Question ID = 2558][Question Description = Q80_Telugu_SHAAN_5DEC_S51_5hift1]
1. 1 [Option ID = 10229]
2. 2 [Option ID = 10230]
3. 3 [Option ID = 10231]
4. 4 [Option ID = 10232]
Caorrect Answer :-

1 [Option ID = 10229]

B1)  csomgooses Sot 88 10spsnes® HE7R) Hrre [Eh08m
A 5
B. 3}

C. @ﬂﬁ)ﬁ:«"’tﬁéo

=

33650850
FB PITGRRY (080B0G :

() B,A.D,C
(2) AD.BC
(3 B,C.A D
4 C.B.D A

[Question ID = 2559][Question Description = Q81_Telugu_SHAAN_5DEC_51_5Shift1]
1. 1 [Option ID = 10233]
2. 2 [Option ID = 10234]
3. 3 [Option ID = 10235]
4. 4 [Option ID = 10236
Correct Answer :-
e 1 [Option ID = 10233]
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C. @58
ol
D. g5
I3 D3RRy HBodod :

(1) A.B.CD
2y A.B.D,.C
3) ADCB
4) ACD.B

[Question ID = 2560][Question Description = Q82_Telugu_SHAAN_5SDEC_51_5Shift1]
1. 1 [Option ID = 10237
2. 2 [Option ID = 10238
3. 3 [Option ID = 10239]
4. 4 [Option ID = 10240
Correct Answer ;-

e 1 [Option ID = 10237]

83) sromo @Ry H8oHoa.

A, 603
B. Booe
C. A Ne]
D. fated

DGR DITGRRY mgo:ao& :

(1) C.D,A B

2y B,DCA

3 ACDB

4 D.C A B
[Question ID = 2561][Question Description = Q83_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10241]
2. 2 [Option ID = 10242]

3. 3 [Option ID = 10243]
4, 4 [Option ID = 10244]

Correct Answer ;-
e 1 [Option ID = 10241]

84)  aromrEsenos® 3Dy Boge 1500 HBoDOE.
A B SoB
B.  K-R-8-8-50% Hob
C. et Do

D. Soreitsdo Dol

5 BITERY H080%0E :
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1) A CBD
2y A D.BC
(3) B.A.C.D
4 A CDB

[Question ID = 2562][Question Description = Q84_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 10245]
2. 2 [Option ID = 10246]
3. 3 [Option ID = 10247]
4. 4 [Option ID = 10248)

Correct Answer ;-
e 1 [Option ID = 10245]

83)  Kdree 51850 TertE3Y

A. aoBedy
B. CAR S LTI L
C. TPOSTOIIIIG

D. ﬁJﬁ“&Jﬁé
Q0N Ff}:lf"wﬁl& mgoiﬁoé :

(1) A.B.C.D
2y ACBD
(3) B.D.C. A
4 ACDB

[Question ID = 2563][Question Description = Q85_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10249]

2. 2 [Option ID = 10250]

3. 3 [Option ID = 10251]

4. 4 [Option ID = 10252]
Correct Answer -
s 1 [Option ID = 10249]

86) S0 th"é (), e (r)e BB QdoopR) HHBodod |

(D) & N5 e ere Pewos g7 §Tots §75 Hie

() : DEGEDE BrRASEN0R g OFETORL KR aHB se2el

L (D), (5r) &0 Botir T30

(2) (D), () o Botir B8z

(3 (D) 7B, () 5850

(4 (D) 305, (r) $eE
[Question ID = 2564][Question Description = Q86_Telugu_SHAAM_SDEC_S51_Shift1]
1. 1 [Option ID = 10253]
2. 2 [Option ID = 10254]

3. 3 [Option ID = 10255]
4, 4 [Option ID = 10256]

Correct Answer ;-
e 1 [Option ID = 10253]

87) Sod 3Z% (D), &Y (Tr)e 8T SoaoerRy ook :

(D) : sresdoorer ek Te uihed D
= [

() 1 TediTe SGeo AToe SEard S8
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1) (®), () e Botsr $BHY
2 (®), (or) oo Bokr B0
(3 (D) T3, () 3657

@ (D) D050, (3r) 5358

[Question ID = 2565][Question Description = Q87_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10257]
2. 2 [Option ID = 10258)
3. 3 [Option ID = 10259]
4. 4 [Option ID = 10260]

Carrect Answer ;-
& 1 [Option ID = 10257]

58) 808 23% (8), Trdud (Br)e B8RS BoworRy KoBosod :

(®) @ 5w DB AEgErsdo DY SoLrEd H8FENe e

(°) 1 83 T8 eEd) HEI0R0 ATJyT B3 5o

(1) (D), () o0 3oy TBHD
(2) (D), (3r) o0 3otre [585%Yy
3 (D) S, () 583760

@ (D) 3B, (3r) 5808

[Question ID = 2566][Question Description = Q88_Telugu_SHAAM_5SDEC_S51_Shift1]
1. 1 [Option ID = 10261]

2. 2 [Option ID = 10262]

3. 3 [Option ID = 10263]

4, 4 [Option ID = 10264]

Correct Answer ;-

e 1 [Option ID = 10261]

89) 808 % (2), s (W)Yo SBYY SowogrRy Kool :
() : ereo mﬂégdmo ;fggfﬂoaoﬁ Sﬁ:}éam’)@

(3°) 1 oDy rR0 TgEBoweso oo S

1) (D), () oo Bokre T30
(2) (D), (3) @0 Bokse H$8se))
(3)  (®) 538, () 6z~

(4) (D) 30576, () BeH6

[Question ID = 2567][Question Description = Q89_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Option ID = 10265]

2. 2 [Option ID = 10266]

3. 3 [Option ID = 10267]

4. 4 [Option ID = 10268]

Correct Answer ;-

e 1 [Option ID = 10265]

70) 806 288 (), oD (3r)o DENS HowogrRy HBodod :
() : DYSLRIR 0B T Ty HoTReM HEDOTL

(3) : DIRIGRB0 0Ty e DGO B0 BIBY) D s
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1D (D), () 0 BokT 9B
@ (D) H08, () BBz
(3 (D) 30, (@) 5336
4 (D), (T°) 0 Botor $8s°¢

[Question ID = 2568][Question Description = Q90_Telugu_SHAAM_5SDEC_51_Shift1]
1. 1 [Option ID = 10269]
2. 2 [Option ID = 10270]
3. 3 [Option ID = 10271]
4, 4 [Option ID = 10272]

Correct Answer ;-
& 1 [Option ID = 10269]
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Topic:- Telugu_5SET1_B

1
) 1808 Sorgdy $83, add (54 e S35 eTraen ocdfsod ¢
ERORTOESRIA0D didyedpencee; Horfaw
930K Frolls HoBdocam euidy, DBCBE0B.
55880 TrIZBONDEE [EHENS DanoSHB ©
EIS00mes8 Gabistiyder SBeads =B
& 5e5508° HBowED Be8
D) S5 @) Do
(3)  doened (4) Sosgey

[Question ID = 2569][Question Description = Q91_Telugu_SHAAM_S5DEC_S51_Shift1]

1. 1 [Option ID = 10273]

2. 2 [Option ID = 10274]

3. 3 [Option ID = 10275]

4, 4 [Option ID = 10276]

Correct Answer ;-

e 1 [Option ID = 10273]

2)
1808 Syl S8, add (¥ e S eTraen oedisod :

SRS I HYedRPeTe; Hormw
QO ollS GBOBoR @iy, DECBES)
255880 TIZEONDEL) DK HewoSyB ©
BRROWTSS Y SaDERYSer HBeag B

S :;35550663} BO0T S50

(1)  ererSoPeotawn 2) ewHd
(3) @33 (4) SreH¥o

[Question ID = 2570][Question Description = Q92_Telugu_SHAAN_5SDEC_51_5hift1]
1. 1 [Option ID = 10277]

2. 2 [Option ID = 10278]

3. 3 [Option ID = 10279]

4. 4 [Option ID = 10280]
Correct Answer :-

s 1 [Option ID = 10277]

o8 DJorghy B8, add (9505 DTS esTreved oedflod ¢
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ERORTRESRIAND didyedpencee; Horfaw
Q30K Frolls Ho8sdvcam euiidy, DBCBEoB.
55880 TrIZBONDEE [EHENS DanoSHB ©
E30eTds8 LhHEyder H0eag "0

o 5e55085° HES0 WRNYB
1) sy (2 E20 e ¥,
(8)  Do¥BAA K e Ksden (4)  BoBNEd

[Question ID = 2571][Question Description = Q93_Telugu_SHAAN_5SDEC_S1_Shift1]
1. 1 [Option ID = 10281]

2. 2 [Option ID = 10282]

3. 3 [Option ID = 10283]

4. 4 [Option ID = 10284]

Correct Answer ;-

e 1 [Option ID = 10281]

1So8 Syl S8, adyd (¥ $BS eTraoen ocdisod :

SRS IR0 HYedRPeTe; Hormw
QO ollS LGSO eoihy, DECBES)
255580 TrRIZEONDEL) DK BewoyB ©
ER50e0T 388 FohdRydes H50eg oGl

e D530 wrgoe BAANRD 5dB° ©¥EI0

(1) SrglogtBeroo (2) ﬁrj@_ﬁ@
(3) @55 Bméé (4) [PoFId

[Question ID = 2572][Question Description = Q%94_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Optien ID = 10285]
2. 2 [Option ID = 10286]
3. 3 [Option ID = 10287)
4, 4 [Option ID = 10288]

Correct Answer ;-
a 1 [Option ID = 10285]

1808 Sorgdy $83, add (54 e S35 eTrasen oedisod ¢

ERORTOE SRIAND (idyedIpencee; Hoiaw
2P0 Frolls SoBsdoca eoidy, DBCBEoD
555860 TPRZBONDEE [EHENS DanoSHB ©
E30eTds8 LhHEyder H0eag 00

feaigBoiIn’ - Sr°do
1) 2IdLe B0 (2)  HEHBS BHIE0
(8) &N DHIVGER0 (4) LB FHIR0

[Question ID = 2573][Question Description = Q95_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10289]
2. 2 [Option ID = 10290]

| 3. 3 [Option ID = 10291]
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| 4. 4 [Option ID = 10292]

Carrect Answer ;-
& 1 [Option ID = 10289]

Topic:- Telugu_SET1_C

1) (808 52650 389, a)d 158 0 I35 SSrgraes KoBodod :

28¢5

DI — DTG — DEOL0BR HFTresdlged
SRENBOERY - SHTELDE Eane TR - SUTPe5Te KPE)RERY
W) DT oY) awerwod

2008 D DBYHIETE

o) WDENOTL

28I308Teek

2085
2T T OB HEI0KTE), ODHOGOT LI
EMGRIASIAE e

2009 HIDE, HIDHYYITE, DOBHTRE ST
STE Dot HEIHOOTEE

908 Desore ZJ@_-;C;*?

D&
658! 9 DHBEID, oSS HED DS KD
AOBIETD D @D

P DRYYTR ! S DEDATO VI
FASTEE) VYoD

BOBITHEOTIE

0BT BHe

He 598 S Koo dE
{1) a)iéﬁoﬁl (Z2)  SD0LOTTRTPRNCE
{3) @mﬁomaﬁmtﬂ@ (4) @fh@”é
[Question ID = 2574][Question Description = Q96_Telugu_SHAAM_5SDEC_51_Shift1]
1. 1 [Option ID = 10293]
2. 2 [Optien ID = 10294]
3. 3 [Optien ID = 10295]
4. 4 [Option ID = 10296]
) cﬂn-ect Mswer e

e 1 [Option ID = 10293]

2) 208 £2850 389, aA)S (9@ TS S3;grEred HoBoBod ¢
2,565
HITT ~ DTG — Do¥HoBR WSFTresdgTd

svm:mr:ém%& - aVaBaonE gm&m mvm& - 0TI gﬁtﬂat)@mm&
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W) DT oY) éwerwod
20d Dz WBYDIATED
o) WDENOTL

28I308Te¢

20875
BT T oD BEI0ETE), HIODHOFOTHOEIOTE)
080608

200D DATE, HIRDIOD, DoBHNTRE DTNHT G
B8 e DO

908 Desore :ﬁﬁ_-;rsv?

D&
6581 D DB, oSS IED Do0hgeS A0

AOSIEIDDD @D

&1 EOBS” VezonT HAGY’ — WD SRR Do DI0E He EINBI0D
(1)  grd¥R (2)  egHWCDEDD

(3) DDHZDD (4) 3&‘9&‘5”;’)@533%

[Question ID = 2575][Question Description = Q97_Telugu_SHAAM_5SDEC_S51_Shift1]
1. 1 [Option ID = 10297]

2. 2 [Option ID = 10298]

3. 3 [Option ID = 10299]

4, 4 [Option ID = 10300]

Correct Answer -

e 1 [Option ID = 102%7]

3) 208 52650 389, AN (9%)08H IBH ISrgrEres HBodod :

2,568

BICs - mfmﬁgmﬁ) - 0008 inﬁoﬁaaci%é;)“@
SRRIDIRY — HIVENDE Edge TRy - Soreiare ErERERYy
W) DT TroN) awereod

200d Dz BGOSR

o) WDENoTL

8I308Te¢

2085

0TI OB K0T, ODHOGOT LI
VGRS e

2009 HITE, HIDHYYITE, DOBHTRE ST
STE Dot HEIHOOTE

908 Desore :f:ﬁ_-;w?

P
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58! Do DB, JoESTIED ;&Jﬁ)ﬁ)ig@g Reeior)
AOBIETDD @D

&o EDES” QDT WK DATTE WI0Y? — @95105" SEDGHLD

(1) 953 5da §°%eaven (2)  HUB Dosgo

(3) DR KB (4) B3 IHe Daire

[Question ID = 2576][Question Description = Q98_Telugu_SHAAN_5DEC_51_5hift1]
1. 1 [Option ID = 10301]
2. 2 [Option ID = 10302)
3. 3 [Option ID = 10303]
4. 4 [Option ID = 10304]

Carrect Answer ;-
s 1 [Option ID = 10301]

4) 1208 298350 389, 2D 919 VB Y BTrgTe KobBodod :
t e |=%) po

a.8¢5

AT — DFHETE — Do¥e0oBR WSTresdgTl
5PR00BOERY — HVEDE LA 7R - HoTreloTee Krdnorr)y
WD) DT TroR) awerwod

0o D DoByDAiTe

o) WDENOTD

208308Te¢k

208°5e
20T T OB HEI0KTE), ODHOGOTRIEIONTE
SMGARIAIAE e

2009 HID, HIDHYYITE, DOBHHTRE ST
STE Dot HEIHOOTE

08 Desore :ﬁﬁ_-;rsv?

W&
6581 Dk BB, oSS HED DS FE
AOBIETDD @D

e $9HS° oegiie AG|F00D, HIST VTR 201 DI0WEIY) §D
(1) DoRErcsED (2)  E0¥ED

B 2558 @) BoasEd

[Question ID = 2577][Question Description = Q99_Telugu_SHAAN_SDEC_S1_Shift1]
1. 1 [Optien ID = 10305]
2. 2 [Option ID = 10306]
3. 3 [Optien ID = 10307]
4. 4 [Option ID = 10308]

Correct Answer -
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| # 1 [Option ID = 10305]

3) (208 52850 389, aNS (D)o TP JsrgEred KoBodod ¢

2,505

DITT — SR — DEe0oBR FTredlugTd
SPRSVBOTRY ~ LDEIE e 7R — JoT°eboree Kre8y)w=Ry
D0 BT ToR) enereod

2009 B DBYPIALIE

oy VP ERCT D

08IVSeed

208K

DTJ R HB00e7°E, JI0DHOFOTEIETE

RV T TARI AL ford

000 DATED, BTKDYYOTER, DooBRNTRE ITDITE
DI R600 DEIIDOLTE

=08 desore DALY

OIE T
6581 Dk DEBHEND, oGS IED 2o0ges A7
AOBIETDD @D

&o KIHS” S0BATRY’ — @ DoB IHBHEB0Y

(1)

3

FBTY) aFHTRY é@%’c}a} (2) FrHzrog) ﬁn@‘e@mé%’oa

:Jo?m;‘)aﬂégaﬁ@m@%’om @) IDErDPoBS D PSRBT

[Question ID = 2578][Question Description = Q100_Telugu_SHAAN_S5SDEC_S1_Shift1]
1. 1 [Option ID = 10309
2. 2 [Option ID = 10310]
3. 3 [Optien ID = 10311]

4. 4 [Option ID = 10312

Correct Answer -

e 1 [Option ID = 10309]
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Topic:- 05th_Set11_2021 Shift 2_A

1)

The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Australa, Canada, Spain and USA) during the vear 2020. Based on the data in

the table, answer the question .

Country-wise Participation of players in Games

GaEes Football | Cricket | Badminton

Count:

India 1 65 55 45
UK 70 5 40
Australia 90 85 95

Canada 85 80 85
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Ppain ou iJ o

UBSA 55 60 65

The number of players participating in cricket from Canada 1s what percentage (%) of the
number of players participating in Badminton from India?

(1) 177.77% (2) 176.78%
(3) 178.87% (4) 180.82%

Freafafga wiftem § a9 2020 % R0 B2 (6) T 3w (wwa, 57, smeefemn, srer, o st o)
A d (3) sTem-stem Well (Fesia, e oIt dsfifen) 4 um oF T Reenteat il oo = =i fan
T 2 | AT B U U ST % STYW R U F IR A

g | g fpe | Sfiea
Ty
s F 65 | 55 | 45
o 70 | 75 40
sefen | 90 | 85 95
F TS 85 | 80 85
L 80 | 70 | 95
wfeant 55 | 60 65

FST ©, v e § 97 oF O faenteT fi T una § SSfies § 9 o 91 faemisar i
W& W T uiaTa 27

1  177.77% 2 176.78%
(3 178.87% (4 180.82%

[Question ID = 2879][Question Description = Q1_GP_Set11_51_5Shift2]
1. 1 [Option ID = 11513]

2. 2 [Option ID = 11514]

3. 3 [Option ID = 11515]

4. 4 [Option ID = 11516]

Correct Answer :-

e 1 [Option ID = 11513]

The following table presents the details about the number of players participating 1n
three (3) different games (Football. Cricket and Badminton) from six (6) different countries
(India, UK, Australia, Canada, Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

G_ages Football | Cricket | Badminton

Count:

India 1 65 55 15
UK f0 5 40
Australia 90 85 95
Canada 85 80 85
Spain 80 70 a5
UBA 55 60 65

What is the total number of players participating in cricket from Canada, Spain and USA
and the number of players participating in Football from India, UK and Australia?

(D 335 (2) 635
(3) 435 4) 535

Frafofaa wifoem 0 = 2020 = 309 B2 (6) A= 3w (wra, fsrea, sweefemn, e, o 3t smiE)
o (3) srom-stem @l (Fewia, T ol dsfilen) # W oF e Raenfsat 1 g = sr faa
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TR B | drforhT o U T 3TieRE ok ST W Y T IR ST

T | o ke | Ssfilem
Y
TG " 65 | 55 | 45
forem 70 | 75 40
st | 90 | 85 | 95
FTS] 85 | 80 | 85
2 80 | 70 95
It 55 | 60 | 65

ATET, T 3R sferr & fke 7w o ol Raenfet aon wia, B o seeforn o gesiar o Wi
o ot fgentgat A oo g Fhat 27

(1) 335 (2) 635
(3) 435 4y 535

[Question ID = 2880][Question Description = Q2_GP_5et11_S1_5Shift2]
1. 1 [Option ID = 11517]

2. 2 [Option ID = 11518]

3. 3 [Option ID = 11519]

4. 4 [Option ID = 11520]

Correct Answer ;-

» 1 [Option ID = 11517]

The following table presents the details about the number of players participating i1n
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in

the table, answer the question -

Country-wise Participation of players in Games

G_aEes Football | Cricket | Badminton

Coun

India 1 s5 55 45
UK 70 75 40
Austraha 90 85 95
Canada 85 80 85
Spain 80 70 85
USA 55 60 65

The number of players participating in Badminton from all the six countries 1is
approximately what percentage (%) of the total number of players participating in all the
games from Australia?

(D 134% (2) 164%
(3) 126% 4) 157%

Frafafga wifvem § =9 2020 % 2R B2 (6) T 3w (uwa, e, smefem, ser, o i ot )
A (3) sTem-stem Tell (Feaia, Hiehe 9 defien) d wm oF e faentedtl 1 gem # s fem
T 2| AT H U U aTS % STYR W U IR e

T | Feame | fehe | Ssfiem

=5
Y

s F 65 | 55 | 45
o 70 | 75 40

seferr | 90 | 85 | 95

= 1| 85 80 85
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-

L] 80 70 95
spife 55 60 65

sft oy 2 ° Sfited o wm o o Tgenteat i g sreie ¢ asfi el o 9rr o gt fasnisar =
Fel T 1 AT A Tfame (%) 27

(1) 134% (2) 164%
(3) 126% (4 157%

[Question ID = 2881][Question Description = Q3_GP_Set11_S1_Shift2]
1. 1 [Option ID = 11521]
2. 2 [Option ID = 11522]
3. 3 [Option ID = 11523]
4. 4 [Option ID = 11524]

Carrect Answer :-
& 1 [Option ID = 11521]

The following table presents the details about the number of players participating i1n
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Australia, Canada, Spain and USA) during the year 2020. Based on the data in

the table, answer the question -

Country-wise Participation of players in Games

G_aEes Football | Cricket | Badminton

Coun

India 1 s5 55 45
UK 70 75 40
Austraha 90 85 95
Canada 85 80 85
Spain 80 70 05
USA 55 60 65

If country A represents the highest number of players participating in Football and
country B represents the lowest number of playvers participating in Badminton,
then (A, B) =

(1) (Australha, UK) (2) (Canada, USA)
(3) (Australia, Canada) (4) (Spain, India)

Frafafga wifvem § =9 2020 % 2R B2 (6) T 3w (uwa, e, smefem, ser, o i ot )
A (3) sTem-stem Tell (Feaia, Hiehe 9 defien) d wm oF e faentedtl 1 gem # s fem
T 2 | AT W 1SU U TS % STER TR U W I S

g | g fipe | Sz
Y
s F 65 | 55 | 45
o 70 | 75 40
sefer | 90 | 85 95
FTS] 85 | 80 85
e r 80 | 70 | 95
st 55 | 60 65

7 W A W FEEE 0 WM OF 9 faeieal i TEm waid® 3 9 39 B ¥ Ssfien § am o T

Taenfgar =i e =gem 2 a3 gFi 2w (A, B) = 21
1) (eA=ferm, fw) @) (e, swfe)

@  (emgRrn, ww) @ (¥, 5Wa)
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[Question ID = 2882][Question Description = Q4_GP_5Set11_5S1_5Shift2]
1. 1 [Option ID = 11525]
2. 2 [Option ID = 11526]
3. 3 [Option ID = 11527]
4, 4 [Option ID = 11528]

Correct Answer ;-
a 1 [Option ID = 11525]

The following table presents the details about the number of players participating in
three (3) different games (Football, Cricket and Badminton) from six (6) different countries
(India, UK, Austraha, Canada, Spain and USA) during the vear 2020. Based on the data in
the table, answer the question -

Country-wise Participation of players in Games

G_ayes Football | Cricket | Badminton

Coun

India 1 s5 55 45
UK 70 75 40
Austraha 90 S5 95
Canada 85 80 85
Spain 80 70 95
UBSA 55 60 65

If 60% of the players participating in all the games from Spain are male and 30% of the
players participating in all the games from Australia are female, then what will be their
rafio? (male : female)

1 127:170 @ 138:7
(3 49:27 (4) 87:55

Freafafga wifoem § a9 2020 % 2R B2 (6) T 3w (ura, e, smfemn, ser, o st awieE)
A fF (3) sTem-stem Tell (Feaia, Hihe o defien) d wm oF o faentedl 1 gem # s fem
T 2 | AT H U U aTS % STYR W U IR T

g | g fipe | Sfiea
Y
s F 65 | 55 | 45
o 70 | 75 40
sefer | 90 | 85 95
FTS] 85 | 80 85
e r 80 | 70 | 95
st 55 | 60 65

Tfe T W =il Tl B 907 o T faentedt 3 ¥ 60% faenst 79 2 3R smeefern @ wfi went # wm o
T faentsai 8 & 30% Tfawa faenst Afteen 2 @ 37 Tsiad Sea i S 4 2 ¢ (e - Wigen)

(1) 127:170 (2 13:7
3) 49 : 27 (4) 87:55

[Question ID = 2883][Question Description = Q5_GP_Set11_51_5hift2]
1. 1 [Option ID = 11529]
2. 2 [Option ID = 11530]
3. 3 [Option ID = 11531]
4, 4 [Option ID = 11532]

Correct Answer ;-
e 1 [Option ID = 11529]

Topic:- 05th_Set11_2021 Shift 2_B
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1) .
Understanding individual differences helps a teacherin :

(A)  Designing the course materials

(B) Planning a training programme

(C)  Designing teaching strategies

(D)  Understanding the subject matter

(E)  Raising the intelligence level of students.

Choose the most appropriate answer from the options given below :

(1)  (A). (B) and (C) only (2) (B). (C) and (D) only
(3  (C). (D) and (E) only (4 (A). (B) and (E) only

Fafrrs et = o9ee O ©F S1enTs F Hes fred 2
(A)  wEEen gEel # e v A

B)  wlrewr yum f a5 §

(C) Tam wrugl & faiu

@) Fro ool = T A

() foeneff & gouged W ® 9ed d

= fou T fomrew W W Ted SYgwd IR W w9 Hifaw
(1) =ad (A), (B) 2 (O) 2) == (B), (C) 31 (D)
(3) %A (C). (D) 3R (E) (@) Fad (A). (B) 3 (E)

[Question ID = 2884][Question Description = Q06_GP_Set11_51]
1. 1 [Option ID = 11533]

2. 2 [Option ID = 11534

3. 3 [Option ID = 11535]

4. 4 [Option ID = 11536

Correct Answer :-

e 1 [Option ID = 11533]

Which of the following is true about understanding level of teaching?
(1) Imparting factual information
(2) Teaching to comprehend the concepts

(3) Teaching to explore the field of knowledge
(4) Teaching to develop rational thinking

foveror & Ay T W) § Fetiaa § ¥ F5 9 uE R e
(1) AaEF g UEE

Q) FEYROnS W THE % o1 fhew

(8)  IW & % ¥ 3q fhaw

(4) itk A" = fomer = fore fram

[Question ID = 2885][Question Description = Q07_GP_Set11_51]
1. 1 [Option ID = 11537]
2. 2 [Option ID = 11538]
3. 3 [Option ID = 11539
4. 4 [Option ID = 11540]

Carrect Answer :-
& 1 [Option ID = 11537]

3) A group of DTH channels devoted to telecasting educational programmes 24 x 7 basisis :
(1) Swayam (2) MOOC
(3) Swayam Prabha (4) Gyan Darshan

24 x7 T2 sTeTa IAeF FEFA! B TG FH 70 TAG 31 A TA TG T UF TR 7
() =¥ (Swayam) 2) TF MOOC)
(3 = (4) T A

[Question ID = 2886][Question Description = Q08_GP_Set11_51]
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1 [Option 1D = 11541]
2 [Option 1D = 11542]
3 [Opticn ID = 11543]
.4 [Optmn D= 11544]

:.hww—x

Correct Answer :
e 1 [Option ID = 11541]

4 . . )
) Which of the following is a learner-centric teaching method?
(1) Demonstration (2) Dnrll and Practice
(3) Question — answer (4) Cooperative learning

fyafafiaa o 9 Fm-dt framfl wiea vafy 27

1)  wEH @ fs=1 3tk st
(3) TH-IR (4) T=Arf witm

[Questinn ID = 2887][Question Description = Q09_GP_Set11_51]
1 [Option ID = 11545]
2 [Option ID = 11546]
[Gption ID = 11547]
]

1.
3
3.3

4. 4[0pt1ﬂn ID = 11548

Correct Answer :
e 1 [Option ID = 11545]

What is true about non-formal learning environment?

(A) Learning does not take place in a structured way
(B) Does not aum at certification

(C) Learning takes place in a structured manner

(D) Takes place outside formal educational structure

(E) Intends to achieve pre-determined educational objectives

Choose the most appropriate answer from the options given below :
(1)  (C)and (D) only (2) (D) and (E) only
(3) (A)and (B) only (4 (B)and (C) only

- aftoaTies Sifers Tiew % o) 4 5 a8 27

(A) i waftae v " T8 5 o 2

® T T w1 6 T R

©)  ferm =mafSa @n @ & wiar 2

(D) Tz JTEE AEF T o ST o 9w 2 |

(E) 7 [-Fuifa Sfes 3 = 9a 3 H O T 2|

5 fou U forpeTi § § HeE SUgE SR B TEA HI ;
(1) = (C) 3R (D) (2) = (D) 3R (E)
(8) A (A) IR (B) (4 Faa (B) 3 (C)

[Question ID = 2888][Question Description = Q10_GP_5Set11_51]
1 [Option ID = 11549]

2. 2 [Option ID = 11550]

3. 3 [Option ID = 11551]

4. 4 [Option ID = 11552]

Currect Answer :-
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| & 1 [Option ID = 11549]

A question whether the findings by social science researchers are relevant to the everyday
life people 1n natural setiings 1s called :

(1) Vahdity of relevance (2) Natural validity

(8)  Social vahidity (4) Ecological validity

7z WeA & T urpfoek aftem o gmnfors fasm aeematen g o e e sffes e | o fo
IR 2 A1 T8 2, W e ST 2

(1)  gEga Fr Fga (2) TR dud
(3)  =mifsEs Qg (4) e da@

[Question ID = 2889][Question Description = Q11_GP_Set11_51]
1, 1 [Option ID = 11553]
2. 2 [Option ID = 11554]
3. 3 [Option ID = 11555]
4. 4 [Option ID = 11556]

Carrect Answer ;-
& 1 [Option ID = 11553]

The notion of turn-taking is employed in :
(1) Historical research (2) Phenomenology
(3) Critical discourse analysis (4) Secondary analysis

g &+ (A-1fFT) = rasmon =1 3ugm frod g 27

(1)  ufdertas og 5 (2) wwEee A
(3 TS Tl e | (4) Tt fagemw o

[Question ID = 2890][Question Description = Q12_GP_Set11_51]
1. 1 [Option ID = 11557]
2. 2 [Option ID = 11558]
3. 3 [Option ID = 11559]
4, 4 [Option ID = 11560]

Correct Answer ;-
e« 1 [Option ID = 11557]

Which of the following are 1ssues in writing a research proposal?

(A)  Selection of the appropriate topic

(B) Framing of research objectives

(C)  Framing of hypothesis or research questions

(D) Convincing friends and colleagues

(E)  Choosing the correct research method and data analysis technique

Choose the correct answer from the options given below :

(1) (@A), B). D) only 2 (B). (C), (D) only
(3)  (A)(C). (D) only @ &), B). (O, (E) only

Fretfrliga | | A WY U ogd W E B ¢

(A) fEa T w ==

B) Y ILTA B IR HA |

(C) o S19A Ty TT =i aaR e |

(D) it 3R s Al o |

(E) 5% =Y ugia o1 I foeei o a%is & 97 |

It féu v foei o 4 ot 39 = 99 Fifsw

O FE Q). B), D) 2 ¥ (B), (C), (D)

£O S FAN A SR FAY Seoex FAY FDR At TN
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[Question ID = 2891][Question Description = Q13_GP_5Set11_51]
1. 1 [Option ID = 11561]

2. 2 [Option ID = 11562]

3. 3 [Option ID = 11563]

4. 4 [Option ID = 11564]

Correct Answer ;-

» 1 [Option ID = 11561]

Given below are two statements :

Statement I: Integration of qualitative and quantitative research methods 1s a trend
accepted in social science research.

Statement IT : Some critics say that research methods have ‘fixed epistemological and
ontological implications’ and as such mixed methods are not desirable.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

TR TR Rum?

FUA (D) :  TRHE T AR WY Wil 1 TR BT 55T e 5 T T W @ |

FA (D) : FJ SAAH F FeA1 2 6 Wa Ugha F Fuiie grHdmE ) aames Fzad £ o
war i fafia aghat aisdm = €1

I I F oTen |, 99 {4 o feent d 9 w8 I o 9 Fif

() FWIAR O 7 2 |

(2) A 13RI ZA 35 7 |

(3)  HuT IHeA B, Wi ®yA II 3189 2|
(4) w1 3GeA B, oAb o4 I oed 2 )

[Question ID = 2892][Question Description = Q14_GP_5Set11_51]
1. 1 [Option ID = 11565]
2. 2 [Option ID = 11566)
3. 3 [Option ID = 11567
4, 4 [Option ID = 11568)

Carrect Answer ;-
® 1 [Option ID = 11565]

10) Constant comparison 1s a tool used in :
(1) Grounded theory (2) Feministic theory
(3) Relational theory (4) Grand theory
(1) Aftmerfm (wsss)fagm (2) "rErE faga
(8) b fagh () vam fugla

[Question ID = 2893][Question Description = Q15_GP_Set11_51]
1. 1 [Option ID = 11569]
| 2. 2 [Option ID = 11570]
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| 3. 3 [Option ID = 11571]
4. 4 [Option ID = 11572]

Carrect Answer ;-
& 1 [Option ID = 11589]

11)
Non-verbal communication 1is
(1) Impractical (2) Indifferent
3) Non - repetitive (4) Sub-conscious
sranfea ayum 3 -
(1) HAIRIH (2) zedH
3  -rwghs (1) wFa-<ad

[Question ID = 2894][Question Description = Q16_GP_Set11_51]
1. 1 [Option ID = 11573]
2. 2 [Option ID = 11574]
3. 3 [Option ID = 11575]
4. 4 [Option ID = 11576
Correct Answer :-

e 1 [Option ID = 11573]

12)

Which of the following are barriers to understand the communicated message?

(A) Pre-judgement

(B)  Source credibility

(C) Length of communcation
(D)  Source creation

(E) Exsting knowledge of the receiver

Choose the correct answer from the options given below :

1 (&) (C) and (E) 2) (B). (D) and (E)
3 (A). (B and (D) (4 (C). (D) and (E)

Aufta T = gagE o (efafias § @ F-of e £7
@ -

®) @@ s

(© = H deda

®) @@ Fmi

(E) wE % e 3=

1) (A, (C) IR (E) 2) (B). (D)= (E)
(3)  (A), (B) 3T (D) @) (C). (D)3 (E)

[Question ID = 2895][Question Description = Q17_GP_Set11_51]
1. 1 [Option ID = 11577]
2. 2 [Option ID = 11578]
3. 3 [Option ID = 11579]
4, 4 [Option ID = 11580]

Correct Answer ;-
a 1 [Option ID = 11577]
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12) Given below are two statements : One 1s labelled as Assertion (A) and the other i1s labelled as

Reason (R) :

Assertion (A): Western communication tradition emphasizes the cognitive ability of
students.

Reason (R) : Language precision does not have a place in the western system of

communication vis-a-vis students’ ability for knowledge appropriation.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1)
2
(3)
4

Both (A) and (R) are correct and (R) is the correct explanation of (A)
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(A) 1s correct but (R) 1s not correct

(A) 1s not correct but (R) 1s correct

i 31 o U e 2w SIfUFeR (Assertion A) % ¥ ¥ fafm 2 @ 390 ST RO (Reason R) %

=g o
AR (A) TrTETd TEE GO § RS 1 Asenes S| W A o S 2
FR (R) : o i orreTes W 7 feenefi 1 59 o agar i gem ° W geear W wE

T T 2

SUTRE FYF 6 TS H, e E e e A 1 g IUgw ST A 9E il

@
@
3
@

(A) 3 R) 2FT ®E & SR (R), (A) 1 =8 =wen 2 |

(A) 3R R) 3T w7t 3 AP (R). (A) T =l = w1 2|
(A) e 2 wifeT (R) 7 = 7

(A) @&t 781 8 = R) w81 )

[Question ID = 2896][Question Description = Q18_GP_Set11_51]
1, 1 [Option ID = 11581]
2. 2 [Option ID = 11582]
3. 3 [Option ID = 11583]
4. 4 [Option ID = 11584]

Carrect Answer :-
& 1 [Option ID = 11581]

The sequence of communication zones based on individual distances 1s

&)

B

©)

D)

Public zone

Intimate zone

Personal zone

Social zone

Choose the correct answer from the options given below :
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(1) (A, B), (C), D) @ ®.0), D), A\
3 (©), D). A). B @ D). @A), B, )

=faae gl & IR R T & F F6 TH 5

(A) FESHE & (IREaE )

Ll N

(C) e &=

i iy

D) TS aw

9 R U el T O gel 39 # 99 Shiiey ;

1 @A, ®B). 0. D) 2 (B, (C), D). (&)

@ ©O.D. A, @ @D &). 3B, O

[Question ID = 2897][Question Description = Q19_GP_5Set11_51]
1. 1 [Option ID = 11585]
2. 2 [Option ID = 11586]
3. 3 [Option ID = 11587]
4, 4 [Option ID = 11588]

Correct Answer ;-
a 1 [Option ID = 11585]

Match List I with List II

List I List T
Type of information and meaning Description of Characteristic
(A) Content information () Shared
(B) Relational information (I) Personal
(C) Social meaning (III) Factual
(D) Subjective meaning (IV) Communicator's feeling

Choose the correct answer from the options given below :

@ A-ID, B)-1D, (O)-AV), M)-D
(2  (A)-ID, B)-IV), (O)-aDh, O)-D
@  A-D, B)-ID, (C)-AV), (D)-IID
49  @-Im). ®-aV). (C)-@. (D)-ah

Tfi-1 % Ty geft-I =1 e fifor

ell-I Tell-I
TEAT ST A9 T TR fermaneT @ i
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(A) TEEE TEa ge @ T
(B) TS T an
(C) w74 (IT) AT
D) a4 @AV) FusH Fi 9
i & U forecdt 9 © wE ST A T A
(1)  A-dDh. (B)-dD, (O)-AV), (D)-1D)
2)  (A-ID. B)-@V), (C)-a1L). M)-D
3) @D, B®-AD. (O)-AV). (D)-ALD
4) AL, B)-AV), (O)-@). (D)-(1D

[Question ID = 2898][Question Description = Q20_GP_Set11_51]
1. 1 [Option ID = 11589%]
2. 2 [Option ID = 115%0]
3. 3 [Option ID = 11591]
4. 4 [Option ID = 11592)

Carrect Answer :-
& 1 [Option ID = 11589]

Consider the following statements regarding clocks :

(A) In 60 minutes. the minute hand gains 55 minutes on the hour hand
(B) In every hour, both the hands coincide once

(C) When the two hands are at right angles, they are 15 minute spaces apart.

Choose the correct statements from above :

(1) (&) and (C) only (2) (A), and (B) only

(3)  (B)and (C) only @) (A, (B)and (C)

ofea % sr § Frifea s | fem fif -

A)
(B)
©)

60 fire @ firrz =i gz v i g I ga § 55 fime eifte i T gl @ w3
TEF B G G5 O o fierd 2

=6 2F A1 ST9H § THP W Bl B al gF1 % sig w1 B ofat 15 e o w5 2

= o 7o fomreml § ® TR SR 1 9 i

(1)

(3)

Hae (A) 3R (O) (2) Had (A) 3R (B)

#Faa (B) 31 (C) @ (&), (B) 3R (O

[Question ID = 2899][Question Description = Q21_GP_Set11_51]
1. 1 [Option ID = 11593]
2. 2 [Option ID = 115%4]
3. 3 [Option ID = 115%95]

Carrect Answer ;-
& 1 [Option ID = 11593]

By selling 24 pens, a vendor lost the selling price of 6 pens. Find the loss percent
(1) 10% 2y 15%

prepp
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(3) AR {4} Z07

o feghar T 24 e seH 9T 6 e fashl o % auer g+ Bl & | w1 =i sigwam wa i

(1 10% (2) 15%
3y 20% 4 25%

[Question ID = 2900][Question Description = Q22_GP_Set11_51]
1. 1 [Option ID = 115%7]
2. 2 [Option ID = 115%8]
3. 3 [Option ID = 11599)

Carrect Answer ;-
& 1 [Option ID = 11597]

Given below are two statements :

Statement I: If two trains of length x km and ¥ km are moving in the same direction at
u kmph and v kmph respectively. where u >v , then time taken by faster

train to cross the slower train is equal to (I A y}hrs.
U+U

Statement IL: If two trains are moving in opposite directions at ¥ kmph and v kmph. Then,
their relative speed 1s equal to (z +v) kmph.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement I 1s true but Statement II i1s false
(4) Statement I is false but Statement IT is true

e fRem? .

wH @) : 3R x el st y feAdl. o i g wfen uw @ fEn o wam: g fEod /g, sk
v PR g, R fd O w2 S R ow >v , 9 9 fd O 99 Tt WmEl g e fd 9

T TSl H YR FE T @ T 2 = (“ﬂd,

u+uv

w (D) : =fg g s u fe . /g ok v Bt /9 f ofe 9 uw-get i foada foen o a2
qt =3 amfae ifd gl (u +v) B /.

IR FOF 5 A 4, T o O 8 ¥ 9 s o 9 il
(1) =WIsRIIATHE |
(2 = I3 I 3AT o5 § |
(8) wwa Iuw 2, |t == I o 21
(4)  =wua I Eea 2, Al A [ acT 2
[Question ID = 2901][Question Description = Q23_GP_Set11_51]
1. 1 [Option ID = 11601]
2. 2 [Option ID = 11602]

3. 3 [Option ID = 11603]
4. 4 [Option ID = 11604]

Correct Answer ;-
e 1 [Option ID = 11601]

19)  The value of a mobile phone depreciates at the rate of 10% every year. It was purchased 3
vears ago. If its present value 1s ¥ 6561/-, its purchase price was.

(1) ¥ 8100/- (2) T 9000/-
(3) T 9100/- (4) T 9729/

et TeTsE R A T 10% Wi ¥ A R W 9 W 2| 39 Wewa w3 q Tl @i T 91| A 36
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ATEEA B H1 FAAH JoA 6561/ T4 T T FHH HI GOF F1 A

(1) T 8100/- &5 (2) T 9000/ T4
(8) T 9100/- 71 (4) T 9729/-Tm

[Question ID = 2902][Question Description = Q24_GP_Set11_51]
1, 1 [Option ID = 11605]
2. 2 [Option ID = 11606]
3. 3 [Option ID = 11607]
4. 4 [Option ID = 11608]

Carrect Answer ;-
& 1 [Option ID = 11605]

20 The least number by which 72 must be multiplied in order to produce a multiple of 112 1s
1 6 2 12
3 14 4 18

112 =7 T STH % 29 72 1 50 g9d SR G o R g ¢

I 6 2 12
G 14 (4 18

[Question ID = 2903][Question Description = Q25_GP_Set11_51]
1. 1 [Option ID = 11609]
2. 2 [Option ID = 11610
3. 3 [Option ID = 11611]
4. 4 [Option ID = 11612
Correct Answer -
e 1 [Option ID = 11609]

“Wherever there is smoke, fire 1s also present”. Which of the following statements is true
with reference to the above statement according to Nyaya philosophy?

(A)  Smoke cannot exist without fire also being present there

(B)  Fire causes smoke

(C) Universal fireness causes universal smokeness

(D} It asserts that there 1s a relation of concommitance between smoke and fire
Choose the correct answer from the options given below :

(1) Only (A) and (D) are correct (2) Omnly (A) and (B) are correct

(3) Only (C) and (D) are correct {(4) Only (B) and (D) are correct
“Srf et war B aEt s oft fermE 2t 21 S 9 % SEEE SHd BUe b gay fstefaa 4 1
BH-T T TE B 7
(A) = Y Suftyla = 9 gu 1 ARae e B 9T 2 |
B) I F AT Ya7 B B
(C) wEbm sftica gradE g3 = HE |
D) =& TR = 2 b T ok gedl % 937 20 % 9 geed gey 2
= fau 7o feredt § @ 99 S w1 o i
(1) a9 (A) 3R (D) 1 2 ) FF (A) AR (B) T4 2

@) %I (C) IR D) T 7 4) Faa (B) 3K (D) ¥%1 &
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[Question ID = 2904][Question Description = Q26_GP_Set11_51]
1. 1 [Optien ID = 11613]
2. 2 [Optien ID = 11614]
3. 3 [Option ID = 11615]
4. 4 [Option ID = 11616]

Correct Answer ;-
e 1 [Option ID = 11613]

Given below are two statements :

Statement I: The terms Valid’ and ‘invalid’ apply to arguments.
Statement II: The terms ‘Cogent’ and ‘Non-cogent’ apply to statements.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement I1 is false
(4) Statement I 1s false but Statement II1s true

Hi<l 21 =y By oo 2

o ) : e ou AR ‘srEy’ = W o AR 6 Heg ® Fe o 2

Fe (D) : 92 §4 (Bog) R @R (AF-Flsie) T T B 5 dag 3 G o 2 |
IO T H ST °, A4 90 e faedl § 9@ Wal ST 9 =99 i

(1)
2
3
(4)

FeA [ 3R D2 a3 & |

FeA 1 iR I1 31 ofeg £

w9 1 9ex &, @i 99 11 39 2 |
FoF [ 375eq 2, afr % U oe 2

[Question ID = 2905][Question Description = Q27_GP_Set11_51]
1 [Option ID = 11617]
2 [Option ID = 11618]

1.
-
3. 3 [Option ID = 11619]
4. 4 [Option ID = 11620

Correct Answer -

e 1 [Option ID = 11617]

wH

Consider the series — “animal. mammal, feline, tiger”. Which of the following statement/s
1s/are true with reference to this seres

(A) It is 1n order of increasing intension
(B) It is 1n order of Increasing extension
(C) It isin order of decreasing intension.
(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1) Only (B) 1s correct (2) Only (B) and (C) are correct
(3) Only (A) and (D) are correct (4) Only (C) 1s correct

- “SHer, waud, Fem-ash, sm’ w fem #iftne) oo @ % dew § Gofaiae 4 @

FH-TT/FT-T B TE 3/3 -

)
®)
(©)
D)
e
(D
(3

-

TE w5d 5T N7 (SoTH) H FI A 2

Tz 9gd g0 faedrm & w1 2

TE T2d 3¢ A (SevE) FEE A B

77 ed Z¢ Tazanm = w9 0 3

e (B) W 2 (2 =aw (B) 3l (C) wEl &
e (A) 3R (D) el 3 4) Faet (C) 7 2

[Question ID = 2906][Question Description = Q28_GP_Set11_51]
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. 1 [Optien ID = 11621]
2 [Option ID = 11622]
3 [Option ID = 11623]
. 4 [Option ID = 1162

N S PO L ey

Correct Answer -
e 1 [Option ID = 11621]

24)
“All people who live in Varanasi are people who drink tea, and all people who drink tea are
people who like it. We may conclude. then, that all people who live in Varanasi are people
who like 1t. What is wrong with this argument?

(A)  There is equivocation on the term “People who like 1t.”
(B) It comunits existential fallacy

(C) It commits fallacy of exclusive premises.

(D) It commits fallacy of four terms.

Choose the correct answer from the options given below :

(1) Only (A) is correct (2) Only (A) and (C) are correct
(3) Only (A) and (B) are correct (4) Only (A) and (D) are correct

"It § w A wdt @ = i 2, o 9 Ram ol o d 5@ vag e 21 99 w6 e
FehIe Thd 2 T Aot § T aret Wl S A A E S 36 96 d 3 ) W @ J o e 27
(A) veEfs A S S8 uEe N 2 H ST /amsd 2 |

B) = T SearaE 2

(C) 399 3713 MYTE 1 Ecaiv™ 2 |
D) T IR TS A 2

+ fau o foremt © o TE SOR 1 99 it
(1) waa Q) Th 2 @) Fa (A) 3R (C) TH 3
(3) W (A) Wl B) FE B @) e (A) it D) w8 3

[Question ID = 2907][Question Description = Q29_GP_Set11_51]
1, 1 [Option ID = 11625]
2. 2 [Option ID = 11626]
3. 3 [Option ID = 11627]
4. 4 [Option ID = 11628]

Carrect Answer :-
# 1 [Option ID = 11625]

25)
In which of the five steps of inference (anumana) in the Nyaya syllogism all the three terms
stand synthesized?
(1) Upanaya (2) Nigamana
(3) Udaharana (4) Hetu

=T 9 W SAE % qiw =i # 4 ey o 7 ot i ug geeifva g E7

(1 o @) FrmA
@ @ =

[Question ID = 2908][Question Description = Q30_GP_Set11_51]
1. 1 [Option ID = 11629]
2. 2 [Option ID = 11630]
3. 3 [Option ID = 11631]
4. 4 [Option ID = 11632]
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| Correct Answer :-
e 1 [Option ID = 11629]

26
) Which of the following is equivalent to 8 Giga bytes?
1) 223 bytes (2) 2% bytes
(3) 230 bhytes (4) 228 bytes

f=forfigd O o wiH-Tr 8 7 ge o wER B

()  2239mEe @ 2%aEe
3  2%09rge (4) 22897

[Question ID = 2909][Question Description = Q31_GP_Set11_51]
1. 1 [Option ID = 11633]

2. 2 [Option ID = 11634]

3. 3 [Option ID = 11635]

4. 4 [Option ID = 11636]

Correct Answer ;-

e 1 [Option ID = 11633]

27)  Internet Explorer and Mozilla Firefox are :
(1) Web Portals 2y WWW browsers
(3) Search Engines (4) Compilers

(L  d9ieE 2 WWW I
(8 wH IR (4) FTER

[Question ID = 2910][Question Description = Q32_GP_Set11_51]
1. 1 [Option ID = 11637]
2. 2 [Option ID = 11638]
3. 3 [Option ID = 11639]
4, 4 [Option ID = 11640]

Correct Answer :-
e 1 [Option ID = 11637]

Identify the correct order of development of the following storage devices in the ascending
order of their emergence.

(A) DVD

(B) CD-ROM

(C)  Magnetic Tape
(D)  Floppy Disk

Choose the correct answer from the options given below :

1 (©), D). A). B) 2) @), (), B), (&)
3 B, D). ). A) @ (©). D). B), &)

frerfeiiga Wi fSamsal 1 59 359 Fel o @81 SE! @ 4 fafag i |

(A) FrEALEL

B H. i

() e 2w

@) i 5=

i iy T feepet ° @ wEt 3w = il

1 ©.D).A). B 2 @) ©), B). A
3 B, D). (). A @) (0), D), B), (A)
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[Question ID = 2911][Question Description = Q33_GP_5Set11_51]
1. 1 [Option ID = 11641]
2. 2 [Option ID = 11642)
3. 3 [Option ID = 11643]
4, 4 [Option ID = 11644]

Correct Answer ;-
a 1 [Option ID = 11641]

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A): Internet is one of the popular services offered on the World Wide Web

(WWW).

Reason (R) : The WWW 1s the universe of network — accessible information.

In the light of the above statements, choose the correct answer from the options given below :

(1
(2)
(3
@

Both (A) and (R) are true and (R) 1s the correct explanation of (A)
Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(A) 1s true but (R) is false

(A) 1s false but (R) 1s true

H 3t o feu e §, o afawyR (Assertion A) F ¥4 H ffEd 2 @ 790 0% ®RW (Reason R) 5

=1 H .

sfsa (A) | 322 gos S o (WWW) W G291 el SHarel] U SR e 2 |

=+ (R) :

WWW “2ah o H1ea8 ¥ Ug= arelt GeATst =1 Th =AU T80 2 |

ST FYA T STEE H, T 1o Te w9 o TE SO W 9 it

@

(2)

(3)

@

(A) 3 (R) <A1 @7 2 311 (R), (A) =1 WEl = 2 |
(A) TR (R) 3Tt w7 2, @i (R), (A) Fit wet =men 7 2 |
(A) T 2, ST (R) o180 2 |

(A) 35 2, 9f (R) 9T 2

[Question ID = 2912][Question Description = Q34_GP_5Set11_51]
1. 1 [Option ID = 11645]
2. 2 [Option ID = 11646]
3. 3 [Option ID = 11647]
4, 4 [Option ID = 11648]

Correct Answer ;-
s 1 [Option ID = 11645]

30) Match List I with List II
List I List II
(Digital Initiative) (Objective)
(A) e-Vidwan (I) Dagital-learning environment for
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UCSLS L

(B) e-Kalpa D) Subscription—based scholarly
mnformation (e-books and e-journals) at
lower rates.

(C) e-Yantra (III) Expert Database and National
Research Network

(D) e-Sodh Sindhu (IV) Spread education in Embedded
systems and Robotics

Choose the correct answer from the options given below :

1 A-dm), ®-av), (O-O. O)-ID
2 A)-1D, B)-D, (C)-AV), (D)-IID
3  @-II). B)-D. (O)-aV). (D)-AD
@  A-0. B)-dID, (C)-AV), (D)-dAD

g1 s w12 g1-11 =1 e $ifse
i1 ge-I1
fEfes = - -
A z-fgm @  Afirneg gq feloea aiftrm wamde
®) 37 ) == W W IeH-onAmE ASEE A
(3-75a iR $-vfew)

(€) 37 I ey S2em 3R TEE STHEaH ST
D) z-uiy ey AV) fream o Tsifea § wifa = fen

i fau e ferpeat § @ GEl wow W wE AN

O @-aD, B)-AV), (©)-0), (O)-aD
@ (A, B-D, (O-aV), (D)-aID
@ (A, B)-D, (©)-IV), (D)-AD
@  (A-0. B)-m), (C)-V), (D)-aD

[Question ID = 2913][Question Description = Q35_GP_Set11_51]
1. 1 [Option ID = 11649]

2. 2 [Option ID = 11650]

3. 3 [Option ID = 11651]

4. 4 [Option ID = 11652]
Correct Answer ;-

s 1 [Option ID = 11649]

‘To conserve and sustainably use the oceans, seas and marine resources’ — is the aim of
sustainable development Goal number :

(1) 10 @ 12
(3) 14 (4 16

TETRI, TP S oggl TOTEEl Rl WEa O ST e WORT IR o deneie e i e
& TEAT I T ¢ ¢

1 10 @ 12
@ 14 4 16

[Question ID = 2914][Question Description = Q36_GP_Set11_51]
1. 1 [Option ID = 11653]
2. 2 [Option ID = 11654]
3. 3 [Option ID = 11655]
4. 4 [Option ID = 11656
Correct Answer ;-

e 1 [Option ID = 11653]
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| 32)

According to composition (%) of typical fine continental aerosols, identify the correct
sequence in decreasing order.

(A) Sulphate

(B) Ammonium

(C)  Organic carbon
(D)  Elemental Carbon

Choose the correct answer from the options given below :
1 A== ®=>D) 2 W=>B=C)=D)
@ ©O=A=B=>D 4y (©)=@D)>(B)>(A)

fafote gam werdidm arafoem % vlawm (%) U2 % SER, WEl STaE F9 $ agaE Hifi

-

A) T

B  emiFEm

(C) S WA

D)  fewien wEA

i fou e fompei & ° wdt = s g

1 @@= ©C)=@B=D) 2 @>=>@B=C)=D)
@ O=@Q)=B=>D) 4 ©=D)=> B> @A)

[Question ID = 2915][Question Description = Q37_GP_Set11_51]
1. 1 [Option ID = 11657]
2. 2 [Option ID = 11658]
3, 3 [Option ID = 11659]
4, 4 [Option ID = 11660]

Correct Answer ;-
a 1 [Option ID = 11657]

33) Point sources of water pollution are :
(A) Underground coal mines
(B) Run-off from farm fields
(C) Sewage treatient plants
(D) Run-off from roads and construction sites
(E) Power plants
Choose the correct answer from the options given below :
1) (C), (E)only (2) (A). (O). (E) only
3 @ C.D).E)only (4 (B). (), (E)only
el WEE] < U Hid & -
&) T e g
(B) ddl U A B EEH
(©)  wESA W 9
(D) HSw AR P e 3 5 2E
EB) foga @
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=1 f2u 7 fempei § 4 9El 39 @ 999 it

1) FT(©), (B) 2) FaE (4), (O) 3R (B)
(3  =ad (A (©). D), E) @) =Faa (B). (C) 3R (E)

[Question ID = 2916][Question Description = Q38_GP_Set11_51]
1. 1 [Option ID = 11661]
2. 2 [Option ID = 11662]
3. 3 [Option ID = 11663]
4. 4 [Option ID = 11664]

Correct Answer -
& 1 [Option ID = 11661]

34 The optimal range of wind speeds for wind power generation is :
(1) ~32 —40 m/s (2) ~24-—30m/s
(3) ~15 — 22 m/fs 4 ~4—-12m/s

Yo Tl IeATET 2 BT hi A I sEam i P -

(1) ~82-40Ti./4, (2) ~24-—380./4.
(3) ~15-22 1A, (4) ~4—12 4./,

[Question ID = 2917][Question Description = Q39_GP_Set11_51]
1. 1 [Option ID = 11665]

2. 2 [Option ID = 11666

3. 3 [Option ID = 11667]

4. 4 [Option ID = 11668
Correct Answer -
e 1 [Option ID = 11665]

In the international Solar Alliance Mission, these entities are corporate Partners from India :

(A) National Thermal Power corporation
(B) Power grid corporation

(C) State Bank of India

(D)  Rural Electrification Corporation

(E) Indian Renewable Energy Development Agency

Choose the correct answer from the options given below :
() @A), D). (E) only 2) . (C), D)only

3 @A), ®). D) only 4 (A, B). (D). (E) only
ST iR ey fimE o Fefafiga e yrg 9 sl 9gw @
(A) ¥ amfeeE Fm
B) s FRIEE
(C) udm =2 d%
D) 7w feEd T
(E) wRdM Tt S e et
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4 f2u 1o fFen § 9 odt 3w 9ue Hie

(1)

(3

Faa (A), (D). (E) @) Fad (4), (C), D)

A (A), (B). (D) @) Fa (4), (B), D), (B)

[Question ID = 2918][Question Description = Q40_GP_Set11_51]
1. 1 [Option ID = 11669]
2. 2 [Option ID = 11670]
3. 3 [Option ID = 11671]
4. 4 [Option ID = 11672]

Correct Answer ;-
e 1 [Option ID = 1166%]

Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as

Reason (R) :

Assertion (A):  Although in terms of number of publication of research papers India is
quite ahead of many couniries, its position in world Ranking of

Universities 1s quite low.

Reason (R) : The quality of most of the research papers published by scholars from
India 1s not very good.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(D) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correct but (R) is not correct

(4) (A) 1s not correct but (R) is correct

i 2 v fow e oF AUeE (Assertion A) % ¥ ° fafam 2 1 780 8% RO (Reason R) %

i
w4 H

AR (A) 7l Wg A % WEEE G o §eY W 9Rd dgd | O ° wrh Ar 2, 6

fava & Tavaferemt =i I 0 9 Fh 19 2

w0 (R) : I Tagei & TRt stieepina: =g TN o o 95a 31 T B |

I 2 % e °, = e e fawet 0 O 9eg Iw 3T H 99 i

ey
@
(3
@

(A) 3 R) 391 &l # 3R (R), (A) N T e B

A) 3R R) 39 T 3 A R), (&) B = A T R
(&) = 2 @ (R) T TE 2 |

(A) =t 7 ? @fF R) 94 2

[Question ID = 2919][Question Description = Q41_GP_Set11_51]
1. 1 [Option ID = 11673]
2. 2 [Option ID = 11674]
3. 3 [Option ID = 11675]
4, 4 [Option ID = 11676]

Correct Answer ;-
| @ 1 [Option ID = 11673]
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37 " ; ; 5w
) In which text among the following, importance has been given to multi-disciplinary
education?
(1) Abhigvan Shakuntalam (2) Rig- Veda
(3) Upanishad (4) Kadambari

Freaferftaa # § frm o %) wg-fwers e % foe aea fom wmar 27

(1)  AfEA IHaem (2) g
(3) sufmg (4) el

[Question ID = 2920][Question Description = Q42_GP_Set11_51]
1. 1 [Option ID = 11677]

2. 2 [Option ID = 11678]

3. 3 [Option ID = 11679]

4. 4 [Option ID = 11680]

Correct Answer ;-

e 1 [Option ID = 11677]

Given below are two statements :

Statement I: Women research scholars find 1t difficult to cope with the dual
responsibilities of research activities and family responsibilities.

Statement II : There 1s a significant drop out of the women research scholars in our
country.

In the light of the above statements. choose the most appropriate answer from the options
given below:

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

=1 2 = R e F

Fya @) :  "fgen iy s g gk sk afenfes Selefet % get scaafee % fak 3 =t
1 HIHAT B 3 |

e (ID) : =91 <7 ° gieen wezmnst G (my = §9= 7 9 218 ) 2o ah i g = o
3

SHFT HUA F INAD H, A9 2T 7w fFwed § O gey SuIE T H T I

(1) = IR w82 |

(2) =9 I3 II AT e 2 |

(3  ww I5d 2, oftr #uF 11 7ed 2 |

(4)  wu Ied 2, Sfe e I ad 2

[Question ID = 2921][Question Description = Q43_GP_Set11_51]
1. 1 [Option ID = 11681]
2. 2 [Option ID = 11682]
3. 3 [Option ID = 11683]
4. 4 [Option ID = 11684]

Correct Answer -
& 1 [Option ID = 11681]

Match List I with List I

List I List IT

{AY Charak (i  Phvsics



www.prepp.in

(B) Sushrut (II) Medicine
(C) Varahmihira (II) Surgery
(D) Kanad (IV) Astronomy

Choose the correct answer from the options given below :

(1) (A)-(1). (B)-AV). (C)-1D. (D)-{ID)
(2) (A)-(IID), (B)-D. (C)-IV), (D)-AD
(3 (A)-(ID, (B)-dID), (C)-AV), (D)-(D)
(4) (A)-(IV), (B)-AD), (C)-(D). (D)-III)
-1 % T - 10 firer =i
-1 gH-II
@ = @O
B ¥y an fafeen
(C) aREMiR A1) e fafrem
(D) = IV) o1afe fagm

+ra fau 7o foedt § @ 9 SO% %1 99 Hifw

(1)
@
3
@

A)-0). B)-IV), (O)-AD. (M)-(IID
(A4)-), B)-@), (C)-AV), (D)-AD
(A4)-1D). (B)-dID, (O)-@V), D)-(D
(A)-IV), B)-aD. (O)-D. )-IID

[Question ID = 2922][Question Description = Q44_GP_5Set11_51]
1. 1 [Option ID = 11685]
2. 2 [Option ID = 11686]
3. 3 [Option ID = 11687]

4. 4 [Option ID = 11688]

Carrect Answer ;-

» 1 [Option ID = 11685]

Which among the following are the objectives of higher education?

A4)
®)
(©)
D)

(E)

To educate every citizen

To promote economic growth

To improve the 1mage of the country
To promote critical thinking

To compete with the neighbouring country.

Choose the correct answer from the options given below :

(1

(3)

(A). (C) only (2) (B). (C)only

(C), (D) only 4y (B). (D) only

prepp
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Frefoitaa 5 O &9 592 e = = &

A)
(B)
©)
D)

(E)

H=

(D

(3)

e AR R e |

s 3fg i Teated = |

291 i B ot garEn |
SEATETC T Seed R |

TSl 391 % WY wfaeaat |

fou e fapet o @ TE ST w0 ==A Fifse

el (4), (C) @) e (B), (O)

e (C). (D) @ a4 (B). (D)

[Question ID = 2923][Question Description = Q45_GP_Set11_51]
1. 1 [Option ID = 11689]
2. 2 [Option ID = 11690]
3. 3 [Option ID = 11691]
4. 4 [Option ID = 11692]

Correct Answer ;-
e 1 [Option ID = 11689]
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Topic:- 05th_Set11_2021 Shift 2_C

1)

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHOQ) that the whole of Africa 1s free of
the wild polio virus i1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaceination and surveillance that it has now been declared that
polic has been eradicated in all 47 countries 1n Africa. It 1s four years since any case was
reported from any Country. The last case was recorded four vears ago in north-east Nigera.
The achievement 1s all the more remarkable as it comes when the world 1s in the grip of a
virus which 1s challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and is a live threat are Pakistan and
Afghanistan. There is no cure for polio which causes irreversible paralysis, mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and clhimatic challenges and difficulties hike
how to take the vaccine to nomadic communities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world, was declared polio-free in March 2014.

Which landmark achievement was declared Historic’ by the WHO?

1)
2

Coming together of WHO and UNICEF to launch vaccination programme.

Polio-free Africa
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(3) India becoming polio free 1n 2014

(4) All the countries of the world becoming polio free.

=i e = glew Tl 30% o1 yoa Bl I AT ¢

fova wmeA e (3509 U o) il T2 "iven R g0 ok e wiferl 9PRE ¥ 994 8 T B, 9F
o W T 3N W TW A * g AfTaw wen ¥ qeeay did = e 2| fwa wme fem A
A w0 A helrs wa @ wEite 2012 ¥ 3@ weE U fave % Fo ol amen S sl wen off |
FRIERY 6 o PEEA S PR % wig o =7 aifva e e 2 fe enfiem % mft 47 2wt wifemn
+1 IS 7T 2 | AR a9 &g T, g9 o R oft <o o it o e wmen omE 98 o 2 ) an ay
T Iei-YEl wifen § sEe stfew mHen wmE AEn o1 ) 97 Iueied a9 3R meeaget 81 SR @ o
forra o arrem 1 wE § 2 3R GER 9 Y Sea off | i 9t werar gedl gt off st e
off T Jrev1 @HTERIY WHEET d% HY U=l S | T SRR 3 98 EATE TR Sk O g@ehar/ s
AT & e SO U o1 o} Sherdt B, W= wwe off | g arfRe sit sremiaE A anft o i e

2| WRE e W uH wu fava A et nferdt o " 9, 39 A 2014 § wifert e aifid e

(1) T AN 1 UE T o Tava TR WA SR T W HY ST
(2)  uifert gFa Tk

(8)  wd w1 T4 2014 # wifermt qoa g

(4) Toga = wefi 3 = wiferEt ged B

[Question ID = 2924][Question Description = Q46_GP_5Set11_51]

1.1

[Option ID = 11693]

2. 2

[Option ID = 11694]

Pl

[Option ID = 11695]

4. 4

[Option 1D = 11696]

Correct Answer ;-

a 1

[Option ID = 11693]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHOQO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 1s
after a long programme of vaccination and surveillance that it has now been declared that
polic has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement 1s all the more remarkable as it comes when the world 1s in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction is still present and i1s a live threat are Pakistan and
Afghanistan. There is no cure for poho which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It is estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chmatic challenges and difficulties hike

1 T ™" - 4] h
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vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared poho-free in March 2014.

Why polio vaceination 1s important for WHO?

(1) There is no cure for polio.

(2) Pakistan and Afghanistan have the most polio afflicted population.
(3) The failure of vaccination programme in many parts of the world.

(4) The large amount of money invested in the programme.

fova wReA e (3509 U o) il T2 "iven R g0 onhie s wiferl aPRE § 999 8 T B, 9FE
o W T 3N W TW A * g AfTew wen ¥ b qecay did = e 2| fava wme fem A
T ' 4 Ufgeifs wal @ iR 2012 ¥ TW UEEM 0 fava % P wiierl Wl =l Sl T of )
SRR % o HEwd 3 Pt % se o T wiita fR En 2 R onhiem 6 Tl 47 2 A wifern
+1 I 3 T 3 | WR o sfig e, a9 o el off 3 o wifert o i wmen gom 98 o 7)) wR
Tget Sei-uel e o s Sifow AW HOW HPET A1) U7 Iueied a9 3 st weeaqel @ W 2 W
forrg o arrm R =z 0 2 R gER 9 Y sea off | i ol Jorar gedl g off st sfeam
off 6 Jievr @RI THEET d% Y YA S | T SR 3R A7 Fars TR S 8 Aq@ehar/sige
AT 2 IUET SUE UH AR o) $eidt 8, A= g9 oY | ¥ ARSI st A st off medi wwen
2 | WA gl 9w 9o faga o deifos aifert % amel 9, 36 A 2014 § uifert god =it e

Tava e O & faw wiiersr SR # aacayel 27

(1) i = ig 3ors 7@ 2

(2  urEEaw @R sreTmiEE | it afim waiiis s 2 |
(3 Tava = s Tl d Fereon wEEa A e

(4)  FrEn o wrhl g = g |

[Question ID = 2925][Question Description = Q47_GP_Set11_51]
1. 1

[Option ID = 11697]
2. 2

[Option ID = 11698]
3.3

[Option ID = 11699]
4, 4

[Option 1D = 11700]

Carrect Answer ;-

s

[Option ID = 11697]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHOQO) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic™
because as late as 2012 the continent had accounted for half of all polio cases worldwide. It 1s
after a long programme of vaccination and surveillance that it has now been declared that
polic has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement 1s all the more remarkable as 1t comes when the world 1s in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

—— - - & - - - - - - .= . a - — -
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10 CAMPAIFEN AFAITISL PpOHO TEY DE Nedr 1Ls el wilh LOe SUCPESS it AIricHd. 1Ne only Lwo
countries where the viral affliction is still present and 1s a live threat are Pakistan and
Afghanistan. There is no cure for poho which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It is estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chmatic challenges and difficulties hike
how to take the vaccine to nomadic commumties. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared polio-free in March 2014.

The countries still afflicted by polio are in :

1)
(3)

Balkan region (2) Latin Amenrica
Asia (4) Sub-Saharan area

Frfatiaa T w6 giey ofR 3% |E Yy W ST S

fova wmea e (3509 U o) il T2 Oiven R g0 onhe s wiferl 9RRE § 99h 8 T B, OFE
o W Tl N Wt T At * g Afvaw wen ¥ b qeeay did = e 2| fawa wme fem A e
T ' 4 Ufgeifs wal @ iR 2012 ¥ 39 UEEM 0 fvE % P wiierl Wmel = S T of |
SRRV 6 o A S PR % wig o s uifva e en 2 R enfiem % el 47 2wt A wifeEn
+1 I9EA 3 T 2 | WR o sfig e, a9 o el off < o wifert o i nmen goE 98 o 7)) 9w ad
T IT-E hifen § sEe stfw men wmE aEn o1 ) 97 Iueied a9 3R o meeaget 81 W @ S
forva o arreg 1 =z 0 2 SR wER 9 Y Seta off | i o Sy gedl gt off st sieamm
off 75 iepr @HTEIEY THEET d% e UE=ET SC | Tad AHB 3 97 karg 6 di o Tq@ehar/sigae
BT 2 U] $9E T AT o} hort 8, o= wmEn off | wg wikea it sremiear | snft off i wmen

2 | WA SE W wh guE oy o deifoes qifert % amel 9, sU A 2014 § uifert qod =i e

Tfem g ot i s g g 27
(1) == & @) < smtEm
(3) uER) (4) ST-TEN &

[Question ID = 2926][Question Description = Q48_GP_Set11_51]

1.1

[Option ID = 11701]

2. 2

[Option ID = 11702]

Feih

[Option ID = 11703]

4. 4

[Option 1D = 11704]

Correct Answer ;-

L

[Option ID = 11701]

Read the following passage carefully and answer question

The declaration by the World Health Organisation, (WHQ) that the whole of Africa 1s free of
the wild polio virus i1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called it “historic”
because as late as 2012 the continent had accounted for half of all poho cases worldwide. It 1s

e Tt e e e i e S e il i o il T sl W il e i vy el i W i il el
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AL WrusE A J.\FLLa Hx.\.rax.ua.u_mu LY N VELWJLLEEA YENSLE TAIANA ATWL VLAELICAIAL/YNF LAAKAL AL AREELT ALINWET AFLA% A Wl EEE T Wl WEATA L

polic has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement 1s all the more remarkable as it comes when the world 1s in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction 1s still present and i1s a live threat are Pakistan and
Afghanistan. There is no cure for poho which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHOQO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chimatic challenges and difficulties hike
how to take the vaccine to nomadic commumities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared poho-free in March 2014.

The world wide campaign for eradication of polio was launched by

(1)
3

International civil society (2) Inter-governmental agencies

UN agencies (4) US agencies

fova wRea OaA (3509 U o) il 72 °iven R g0 onhie awes wiferl IeRE 8 99 8 T B, OF
T W T I G T At * g AfTew Ten ¥ Aecay did = R 2 | fawa wme fem A
T ' § Ufqeiirs wal @ with 2012 ¥ 39 WEEM U Gva % Fo wierl Wl =l S T of )
SIEIRIT < T A ST PR <6 g ol Ts aifva e en 2 R onfem % mlt 47 = O wifern
+1 e g T 2 | AR ad dte e, 99 o Bl oft <o o aifeer @ e mwer gom 98 e 2 ) ww e
weet sol-gelf ifen F swm sif o wEE aEn o) g wefsn qw ol i meet B el 8 W
Tovg ek arrg $1 9uz 0 ¢ R GOR 7 6 S ot | dimires iR weEr et gt off it s
off o Ftoht THTEEY TUEET G hE AT AT | TeAd AR 3R A7 AFATE 55 AR T Agudhar /g
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The declaration by the World Health Organisation, (WHOQ) that the whole of Africa 1s free of
the wild polio virus 1s an important landmark in the worldwide battle against this affliction
that has been waged for many decades. The world health body has rightly called i1t “historic”
because as late as 2012 the continent had accounted for half of all pohio cases worldwide. It 1s
after a long programme of vaccination and surveillance that it has now been declared that
polio has been eradicated in all 47 countries in Africa. It is four years since any case was
reported from any Country. The last case was recorded four years ago in north-east Nigeria.
The achievement 1s all the more remarkable as it comes when the world 1s in the grip of a
virus which is challenging people, governments, health bodies and the medical fraternity.

The campaign against polio may be near its end with the success in Africa. The only two
countries where the viral affliction i1s still present and 1s a live threat are Pakistan and
Afghanistan. There is no cure for poho which causes irreversible paralysis. mostly among
children, and tens of thousands of people have suffered from it. The only protection comes
from vaccination.

The worldwide campaign started in 1988 when the WHO and UNICEF came together to
launch a vaccination programme across the world. It 1s estimated that about $19 billion has
been spent on the programme. The challenges were many. Every child in the world had to be
reached and vaccinated, and the human effort for that and the logistics required was of an
unprecedented scale. There were geographical and chimatic challenges and difficulties hike
how to take the vaccine to nomadic commumities. Disinformation and rumours that the
vaccine would cause infertility or spread HIV were another problem. This 1s still a serious
problem in Pakistan and Afghanistan. India, which once had the highest case load in the
world. was declared poho-free in March 2014.

What were the main challenges against polio vaccination prgrammes?

(A)  Non - availability of Vaccine
(B)  Paucity of funds

(C) Spread of disinformation

(D)  Logstics

Choose the correct options:

(1)
(3)

(A) and (B) only (2) (B) and (C) only
(A) and (D) only (4) (C) and (D) only
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